

Page 1 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDLANTIC (3) EARLE A COMP			
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0001	151006M	1.000	35,000.00000	35,000.00	20,000.00000	20,000.00	30,000.00000	30,000.00
PERFORM PAYMENT	MANCE BOND AND BOND	DOLL						
0004	153003P	(1)	6,500.00000	6,500.00	1,000.00000	1,000.00	9,040.00000	9,040.00
PROGRES	SS SCHEDULE	LS						
0005	153005M	11.000	650.00000	7,150.00	100.00000	1,100.00	282.50000	3,107.50
PROGRES	SS SCHEDULE UPD	PATE U						
0006	153011M	1,210.000	0.01000	12.10	0.01000	12.10	15.00000	18,150.00
TRAINEES	5	HOUR						
0007	154003P	(1)	1,631,415.99000	1,631,415.99	900,000.00000	900,000.00	1,030,000.00000	1,030,000.00
MOBILIZA	TION	LS						
0011	157004M	1.000	100,000.00000	100,000.00	90,000.00000	90,000.00	100,000.00000	100,000.00
CONSTRU	ICTION LAYOUT	DOLL						



Page 2 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDL CONSTRUC			E ASPHALT IPANY
Alt Set	/ Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0022	159003M	30.000	85.00000	2,550.00	96.00000	2,880.00	0.01000	0.30
BREAKAV	WAY BARRICADE	U						
0023	159006M	125.000	65.00000	8,125.00	64.00000	8,000.00	0.01000	1.25
DRUM		U						
0024	159009M	125.000	15.00000	1,875.00	16.00000	2,000.00	0.01000	1.25
TRAFFIC	CONE	U						
0025	159012M	1,842.000	11.00000	20,262.00	17.00000	31,314.00	0.01000	18.42
CONSTRU	UCTION SIGNS	SF						
0026	159015M	2.000	850.00000	1,700.00	1,500.00000	3,000.00	1,500.00000	3,000.00
CONSTRU SIGN, 4' X	UCTION IDENTIFICAT (8'	TION U						
0027	159021P	6,000.000	0.01000	60.00	0.01000	60.00	36.95000	221,700.00
CONSTRU	UCTION BARRIER CU	IRB LF						



Page 3 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDL CONSTRUC		\ <i>\</i>	E ASPHALT IPANY
Alt Se	t / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0028	159027M	2.000	5,500.00000	11,000.00	0.50000	1.00	4,000.00000	8,000.00
FLASHIN	NG ARROW BOARD, 4' X	8' U						
0029	159030M	4.000	7,500.00000	30,000.00	7,200.00000	28,800.00	5,000.00000	20,000.00
PORTAB SIGN	BLE VARIABLE MESSAG	E U						
0030	159054M	4.000	5,750.00000	23,000.00	5,152.27000	20,609.08	8,853.78000	35,415.12
	RARY CRASH CUSHION L BARRIER SYSTEM, 14 ES							
0031	159108M	2.000	26,000.00000	52,000.00	0.50000	1.00	35,000.00000	70,000.00
	C CONTROL TRUCK WIT ED CRASH CUSHION	H U						
0032	159138M	50.000	0.01000	0.50	226.09000	11,304.50	0.01000	0.50
HMA PA	TCH	Т						



Page 4 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0033	159141M	80.000	0.01000	0.80	0.01000	0.80	90.00000	7,200.00
TRAFFIC	DIRECTOR, FLAGG	ER HOUR						
0035	160004M	1.000	14,000.00000	14,000.00	14,000.00000	14,000.00	14,000.00000	14,000.00
FUEL PR	RICE ADJUSTMENT	DOLL						
0036	160007M	1.000	18,800.00000	18,800.00	18,800.00000	18,800.00	18,800.00000	18,800.00
ASPHAL	T PRICE ADJUSTME	NT DOLL						
0037	161003P	(1)	7,500.00000	7,500.00	1.00000	1.00	50,000.00000	50,000.00
FINAL CI	LEANUP	LS						
0038	201003P	(1)	110,000.00000	110,000.00	110,000.00000	110,000.00	110,000.00000	110,000.00
CLEARIN	NG SITE	LS						
0039	202003P	2.200	12,000.00000	26,400.00	5,979.40000	13,154.68	9,050.86000	19,911.89
STRIPPI	NG	ACRE						



Page 5 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDLANTIC CONSTRUCTION, LLC			E ASPHALT IPANY
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Alt Set:		Cat A	Cat Alt Member:	
0040	202006M	50.000	0.01000	0.50	0.01000	0.50	271.92000	13,596.00
EXCAVA	TION, TEST PIT	CY						
0041	202009P	20,911.000	17.50000	365,942.50	27.34000	571,706.74	20.00000	418,220.00
EXCAVA	TION, UNCLASSIFIE	D CY						
0042	202021P	7,942.000	11.00000	87,362.00	8.94000	71,001.48	28.03000	222,614.26
REMOVA	AL OF PAVEMENT	SY						
0043	203021P	782.000	40.00000	31,280.00	0.01000	7.82	17.25000	13,489.50
I-14 SOIL	AGGREGATE	CY						
0044	203043P	240.000	10.00000	2,400.00	12.61000	3,026.40	38.17000	9,160.80
GEOGRI	D REINFORCEMENT	SY						
0045	301006P	3,188.000	50.00000	159,400.00	53.99000	172,120.12	67.49000	215,158.12
SUBBAS	E	CY						



Page 6 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set	/ Alt Member C	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0046	302042P	14,031.000	12.00000	168,372.00	12.11000	169,915.41	13.05000	183,104.55
	RADED AGGREGATE URSE, 8" THICK	: SY						
0047	401009P	8,789.000	4.50000	39,550.50	10.00000	87,890.00	9.89000	86,923.21
HMA MILL	ING, 3" OR LESS	SY						
0048	401021M	60.000	0.01000	0.60	80.00000	4,800.00	88.99000	5,339.40
HOT MIX REPAIR	ASPHALT PAVEMENT	T SY						
0049	401024M	1,000.000	2.50000	2,500.00	4.17000	4,170.00	2.21000	2,210.00
	OF CRACKS IN HOT SURFACE COURSE	MIX LF						
0050	401027M	10,750.000	5.00000	53,750.00	0.83000	8,922.50	0.07000	752.50
POLYMER	RIZED JOINT ADHESI	VE LF						



Page 7 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDLANTIC (3) EARLE ASF CONSTRUCTION, LLC COMPAN			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway	Cat Alt Set:		Cat Alt Member:			
0051	401030M	4,080.000	0.01000	40.80	5.00000	20,400.00	0.01000	40.80
TACK CC	DAT	GAL						
0052	401036M	1,130.000	0.01000	11.30	0.01000	11.30	0.01000	11.30
PRIME C	COAT	GAL						
0053	401054M	2,614.000	91.00000	237,874.00	100.00000	261,400.00	95.87000	250,604.18
	ASPHALT 12.5 M 64 E COURSE	Т						
0054	401084M	3,398.000	90.00000	305,820.00	100.00000	339,800.00	89.81000	305,174.38
	ASPHALT 19 M 64 EDIATE COURSE	Т						
0055	401099M	4,415.000	90.00000	397,350.00	115.00000	507,725.00	89.35000	394,480.25
HOT MIX COURSE	(ASPHALT 25 M 64 B/	ASE T						



Page 8 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	•	1,0012 04, BRIDG							
Item Des			(1) GREEN COI		(2) MIDLANTIC CONSTRUCTION, LLC			E ASPHALI IPANY	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION	: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:		
0056	401108M	50.000	150.00000	7,500.00	333.45000	16,672.50	60.00000	3,000.00	
CORE SAN	MPLES, HOT MIX	U							
0057	453006M	200.000	0.01000	2.00	178.03000	35,606.00	217.59000	43,518.00	
_	TH CONCRETE T REPAIR, HMA	SY							
0058	601122P	3,711.000	0.01000	37.11	55.01000	204,142.11	44.06000	163,506.66	
15" REINFO PIPE	ORCED CONCRET	E LF							
0059	601124P	1,969.000	50.00000	98,450.00	58.48000	115,147.12	45.64000	89,865.16	
18" REINFO PIPE	ORCED CONCRET	E LF							
0060	601128P	54.000	125.00000	6,750.00	99.26000	5,360.04	52.15000	2,816.10	
24" REINFO PIPE	ORCED CONCRET	E LF							



Page 9 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDI CONSTRUC			E ASPHALT PANY
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0061	601372M	1.000	5,000.00000	5,000.00	516.84000	516.84	1,365.61000	1,365.61
18" REIN SECTION	IFORCED CONCRET N	E END U						
0062	601376M	1.000	7,500.00000	7,500.00	994.78000	994.78	1,848.68000	1,848.68
24" REIN SECTION	IFORCED CONCRET N	E END U						
0064	602012M	16.000	0.01000	0.16	3,245.74000	51,931.84	3,476.21000	55,619.36
INLET, T	YPE B	U						
0065	602018M	18.000	0.01000	0.18	3,336.15000	60,050.70	3,556.75000	64,021.50
INLET, T	YPE E	U						
0066	602054M	4.000	5,500.00000	22,000.00	3,475.93000	13,903.72	3,534.72000	14,138.88
MANHOL	LE, 4' DIAMETER	U						



Page 10 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat Alt Member:			
0067	602057M	1.000	7,500.00000	7,500.00	4,587.43000	4,587.43	4,033.08000	4,033.08
MANHO	LE, 5' DIAMETER	U						
0068	602129M	2.000	2,500.00000	5,000.00	846.51000	1,693.02	766.27000	1,532.54
	STRUCTED INLET, TY EXISTING CASTING	PE E, U						
0070	602223M	1.000	45,000.00000	45,000.00	9,725.72000	9,725.72	14,852.30000	14,852.30
OUTLET	CONTROL STRUCTU	RE U						
0071	603036P	121.000	50.00000	6,050.00	38.48000	4,656.08	100.46000	12,155.66
	STONE CHANNEL CTION, 12" THICK (D50	SY 0=6")						
0072	603057P	1,418.000	60.00000	85,080.00	35.74000	50,679.32	59.98000	85,051.64
ROCK B	ACKFILL	Т						



Page 11 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set	/ Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0073	605045P	684.000	60.00000	41,040.00	41.13000	28,132.92	33.57000	22,961.88
CHAIN-L	INK FENCE, 6' HIGH	LF						
0074	605165M	1.000	2,500.00000	2,500.00	1,444.94000	1,444.94	2,871.40000	2,871.40
GATE, CI WIDE	HAIN-LINK FENCE, 20'	U						
0075	606012P	13.000	125.00000	1,625.00	144.49000	1,878.37	95.11000	1,236.43
CONCRE	TE SIDEWALK, 4" THIC	CK SY						
0076	606039P	1,624.000	55.00000	89,320.00	72.07000	117,041.68	56.39000	91,577.36
HOT MIX THICK	ASPHALT DRIVEWAY,	6" SY						
0077	606095P	48.000	175.00000	8,400.00	33.34000	1,600.32	268.51000	12,888.48
TURF PA	VERS	SY						



Page 12 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN COI		(2) MIDLANTIC CONSTRUCTION, LLC			E ASPHALT PANY
Alt Set /	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	: 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0078	607018P	4,134.000	25.00000	103,350.00	32.73000	135,305.82	26.08000	107,814.72
9" X 16" CC CURB	ONCRETE VERTICAL	LF						
0079	607034P	469.000	28.00000	13,132.00	30.37000	14,243.53	33.14000	15,542.66
9" X 14" CC CURB	NCRETE VERTICAL	LF						
0080	607076P	87.000	45.00000	3,915.00	81.72000	7,109.64	45.42000	3,951.54
BELGIAN B	BLOCK CURB	LF						
0081	608003P	2,174.000	38.00000	82,612.00	49.00000	106,526.00	37.24000	80,959.76
NONVEGE MIX ASPHA	TATIVE SURFACE, HO ALT	OT SY						
0082	609003M	1,891.000	28.00000	52,948.00	30.00000	56,730.00	27.44000	51,889.04
BEAM GUI	DE RAIL	LF						



Page 13 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	lo / Item ID Description			ONSTRUCTION, (2) MIDLANTIC CONSTRUCTION, LLC			(3) EARLE ASPHALT COMPANY	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway				Cat Alt Set:		Cat Alt Member:		
0083	609006M	257.000	35.00000	8,995.00	45.00000	11,565.00	34.30000	8,815.10
BEAM G	UIDE RAIL, DUAL-FA	CED LF						
0084	609024M	2.000	2,500.00000	5,000.00	3,056.00000	6,112.00	2,450.00000	4,900.00
FLARED	GUIDE RAIL TERMIN	NAL U						
0085	609027M	2.000	3,000.00000	6,000.00	3,611.00000	7,222.00	2,940.00000	5,880.00
TANGEN	IT GUIDE RAIL TERM	IINAL U						
0086	609030M	2.000	5,250.00000	10,500.00	6,945.00000	13,890.00	5,145.00000	10,290.00
TELESC TERMINA	OPING GUIDE RAIL E AL	END U						
0087	609039M	5.000	1,500.00000	7,500.00	1,555.00000	7,775.00	1,470.00000	7,350.00
BEAM G	UIDE RAIL ANCHORA	AGE U						



Page 14 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Cat Alt Set:		Cat Alt Member:				
0088	609059M	4.000	3,500.00000	14,000.00	4,889.00000	19,556.00	3,430.00000	13,720.00
_	ACH GUIDE RAIL FION TL-3	U						
0089	609063M	740.000	12.00000	8,880.00	18.00000	13,320.00	11.76000	8,702.40
_	BEAM GUIDE RAIL W G POSTS	/ITH LF						
0090	609075M	1,780.000	3.00000	5,340.00	4.00000	7,120.00	2.94000	5,233.20
REMOVA	AL OF BEAM GUIDE	RAIL LF						
0091	610003M	52,305.000	0.40000	20,922.00	0.54000	28,244.70	0.31000	16,214.55
TRAFFIC	STRIPES, 4"	LF						
0092	610007M	655.000	0.80000	524.00	1.09000	713.95	0.63000	412.65
TRAFFIC	STRIPES, 8"	LF						



Page 15 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description			CONSTRUCTION, (2) MIDI INC. CONSTRUC			(3) EARLE ASPHALT COMPANY	
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Cat Alt Set:		Cat Alt Member:				
0093	610012M	80.000	26.95000	2,156.00	35.28000	2,822.40	44.10000	3,528.00
RPM, MC LENS	DNO-DIRECTIONAL, W	HITE U						
0094	610018M	65.000	26.95000	1,751.75	35.28000	2,293.20	44.10000	2,866.50
RPM, MC AMBER I	DNO-DIRECTIONAL, LENS	U						
0095	610024M	145.000	5.00000	725.00	35.03000	5,079.35	9.71000	1,407.95
REMOVA	AL OF RPM	U						
0096	610036M	29,300.000	0.65000	19,045.00	0.62000	18,166.00	0.59000	17,287.00
REMOVA	AL OF TRAFFIC STRIPE	ES LF						
0097	612003P	35.000	35.00000	1,225.00	51.13000	1,789.55	33.32000	1,166.20
REGULA SIGN	TORY AND WARNING	SF						



Page 16 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0098	651057P	710.000	57.00000	40,470.00	118.98000	84,475.80	168.97000	119,968.70
8" DUCT CLASS 5	TILE IRON WATER PI 52	PE, LF						
0099	651063P	50.000	100.00000	5,000.00	713.01000	35,650.50	200.00000	10,000.00
12" DUC CLASS 5	TILE IRON WATER F 52	PIPE, LF						
0100	651243M	9.000	7,500.00000	67,500.00	2,325.70000	20,931.30	1,000.00000	9,000.00
WATER	SERVICE CONNECT	TON U						
0101	651246M	3.000	12,500.00000	37,500.00	8,505.51000	25,516.53	7,332.07000	21,996.21
FIRE HY	DRANT	U						
0102	654007P	(1)	525,000.00000	525,000.00	538,000.00000	538,000.00	585,880.15000	585,880.15
ELECTR RELOCA	ICAL UTILITY ATION, JO	LS						



Page 17 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description			(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		E ASPHALT IPANY
Alt Set /	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0103	655021P	1.000	47,500.00000	47,500.00	45,000.00000	45,000.00	65,831.14000	65,831.14
FIBER OPT	TIC UTILITY ION, FTS	LS						
0104	701011P	245.000	175.00000	42,875.00	50.40000	12,348.00	68.60000	16,807.00
1 1/2" RIGI PVC COAT	D METALLIC CONDUITED	Γ, LF						
0105	701015P	181.000	45.00000	8,145.00	38.85000	7,031.85	73.50000	13,303.50
2" RIGID M	ETALLIC CONDUIT	LF						
0106	701020P	49.000	200.00000	9,800.00	71.40000	3,498.60	107.80000	5,282.20
3" RIGID M COATED	IETALLIC CONDUIT, P	VC LF						
0107	701021P	83.000	60.00000	4,980.00	57.75000	4,793.25	88.20000	7,320.60
3" RIGID M	IETALLIC CONDUIT	LF						



Page 18 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	lo / Item ID Description			EEN CONSTRUCTION, (2) MID CONSTRU		ANTIC CTION, LLC	(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Al	t Set:	Cat A	It Member:	
0108	701044P	39.000	50.00000	1,950.00	23.10000	900.90	49.00000	1,911.00
3/4" FLE	XIBLE METALLIC COND	DUIT LF						
0109	701102M	2.000	2,500.00000	5,000.00	2,415.00000	4,830.00	2,597.00000	5,194.00
18" X 36	" JUNCTION BOX	U						
0110	701108M	7.000	1,200.00000	8,400.00	1,260.00000	8,820.00	2,499.00000	17,493.00
12" X 10 BOX	" X 8" METAL JUNCTIOI	N U						
0111	701159M	1.000	2,600.00000	2,600.00	2,572.50000	2,572.50	3,087.00000	3,087.00
FOUNDA	ATION, TYPE 1M-MC	U						
0112	701177M	1.000	12,500.00000	12,500.00	9,975.00000	9,975.00	9,751.00000	9,751.00
METER	CABINET, TYPE 1M-MC	; U						
0113	701192P	701.000	2.00000	1,402.00	2.10000	1,472.10	2.45000	1,717.45
GROUNI	D WIRE, NO. 8 AWG	LF						



Page 19 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription			CONSTRUCTION, (2) MIDLAN CONSTRUCTION				
Alt Set	/ Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0114	701195P	609.000	5.00000	3,045.00	4.20000	2,557.80	5.88000	3,580.92
MULTIPLE AWG	E LIGHTING WIRE, NO	D. 2 LF						
0115	701198P	1,608.000	3.00000	4,824.00	2.31000	3,714.48	4.41000	7,091.28
MULTIPLE AWG	E LIGHTING WIRE, NO	D. 6 LF						
0116	701204P	91.000	5.00000	455.00	2.00000	182.00	4.90000	445.90
MULTIPLE AWG	E LIGHTING WIRE, NO	D. 10 LF						
0117	701210P	456.000	6.00000	2,736.00	6.30000	2,872.80	5.88000	2,681.28
SERVICE	WIRE, NO. 2 AWG	LF						
0118	703027M	7.000	1,810.00000	12,670.00	2,310.00000	16,170.00	2,352.00000	16,464.00
UNDERDI	ECK LIGHTING TYPE	P U						



Page 20 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	/ Item ID scription		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set / Alt Member Quantity and Un		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0119	704002M	2,369.000	32.00000	75,808.00	72.45000	171,634.05	58.31000	138,136.39
ITS COND	UIT, TYPE A	LF						
0120	704003M	2.000	5,400.00000	10,800.00	3,181.50000	6,363.00	4,606.00000	9,212.00
JUNCTION BOX ITS TYPE A U		U						
0121	704009M	6.000	1,800.00000	10,800.00	1,806.00000	10,836.00	3,822.00000	22,932.00
JUNCTION	I BOX ITS TYPE C	U						
0122	704011M	1.000	3,500.00000	3,500.00	3,738.00000	3,738.00	3,185.00000	3,185.00
METER CA	ABINET ITS	U						
0123	704014M	1.000	1,500.00000	1,500.00	1,060.50000	1,060.50	2,156.00000	2,156.00
FOUNDAT	ION, ITS	U						
0124	704024M	1.000	4,000.00000	4,000.00	2,110.50000	2,110.50	2,915.50000	2,915.50
FOUNDAT	ION ITS TYPE D	U						



Page 21 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 Roadway			Cat Alt Set:		Cat Alt Member:			
0125 704033P	(1)	5,850.00000	5,850.00	8,190.00000	8,190.00	3,675.00000	3,675.00	
CONTROL CENTER SYSTEI LOCATION NO STMC	M, LS							
0126 704033P	(1)	6,950.00000	6,950.00	10,710.00000	10,710.00	3,675.00000	3,675.00	
CONTROL CENTER SYSTEI LOCATION NO TOCS	M, LS							
0127 704060M	1.000	9,830.00000	9,830.00	7,035.00000	7,035.00	14,210.00000	14,210.00	
CAMERA	U							
0128 999999P	1.000	0.00000	0.00	0.00000	0.00	0.00000	0.00	
NO ITEM	U							
0129 704171M	1.000	107,700.00000	107,700.00	113,925.00000	113,925.00	112,700.00000	112,700.00	
DMS SIGN	U							



Page 22 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt	Set:	Cat Alt Member:			
0130	704183M	1.000	18,900.00000	18,900.00	14,542.50000	14,542.50	15,680.00000	15,680.00
CONTRO	DLLER, DMS	U						
0132	804006P	13,435.000	3.00000	40,305.00	3.15000	42,320.25	2.08000	27,944.80
TOPSOIL	LING, 4" THICK	SY						
0134	804030P	519.000	60.00000	31,140.00	73.50000	38,146.50	84.52000	43,865.88
BIORETE	ENTION SOIL MIXTUR	RE CY						
0136	806006P	10,991.000	0.75000	8,243.25	1.21000	13,299.11	1.96000	21,542.36
FERTILIZ A-3	ZING AND SEEDING,	TYPE SY						
0140	807003M	5,488.000	3.75000	20,580.00	5.09000	27,933.92	3.92000	21,512.96
TOPSOIL MAT	L STABILIZATION, TY	PE 1 SY						



Page 23 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		` '	ONSTRUCTION, (2) MIDLING. CONSTRUC			(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway				Cat Alt	Set:	Cat Alt Member:		
0176	704185M	1.000	8,300.00000	8,300.00	7,446.98000	7,446.98	12,397.00000	12,397.00
CONTRO DMS	OLLER MODIFICATION	ONS, U						
0177	504046P	955.000	25.00000	23,875.00	96.00000	91,680.00	59.18000	56,516.90
PAINTIN SURFAC	G OF CONCRETE E	SY						
Secti	on Totals:			\$5,998,714.04		\$6,092,569.74		\$6,383,080.59



Page 24 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	ngineering	Cat Alt Set: Cat A			It Member:		
0008 155009M	1.000	29,000.00000	29,000.00	19,000.00000	19,000.00	38,487.80000	38,487.80
FIELD OFFICE TYPE C SET U	JP U						
0009 155027M	25.000	3,250.00000	81,250.00	1,000.00000	25,000.00	2,825.00000	70,625.00
FIELD OFFICE TYPE C MAINTENANCE	МО						
0010 156015M	1.000	7,500.00000	7,500.00	10,000.00000	10,000.00	12,000.00000	12,000.00
NUCLEAR DENSITY GAUGE	U						
Section Totals:			\$117,750.00		\$54,000.00		\$121,112.80



Page 25 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) GREEN COI		(2) MIDL CONSTRUC			E ASPHALT IPANY
Alt Set	/ Alt Member Quan	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Non-Participa		lon-Participati	ng Roadway Cat Ali		Set:	Cat A	It Member:	
0002	152004P	1.000	0.01000	0.01	10,000.00000	10,000.00	6,000.00000	6,000.00
	S AND CONTRACTOR'S TIVE LIABILITY NCE	DOLL						
0003	152015P	1.000	0.01000	0.01	5,000.00000	5,000.00	1.00000	1.00
POLLUTI	ON LIABILITY INSURANCE	DOLL						
0034	159190M	(1)	5,000.00000	5,000.00	1.00000	1.00	0.01000	0.01
SNOW R	EMOVAL	LS						
0063	601670M	545.000	9.00000	4,905.00	25.56000	13,930.20	11.76000	6,409.20
CLEANIN 24" DIAM	IG EXISTING PIPE, 12" TO IETER	LF						
0069	602216M	10.000	200.00000	2,000.00	169.30000	1,693.00	367.50000	3,675.00
CLEANIN STRUCT	IG DRAINAGE URE	U						



Page 26 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$11,905.02 \$30,624.20 \$16,085.21



Page 27 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	/ Item ID scription		(1) GREEN CONSTRUCTION, INC.		(2) MIDI CONSTRUC		(3) EARLE ASPHALT COMPANY	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0004	Erosion Control	Cat Alt So		Set: Cat A		Alt Member:	
0012	158006M	6,058.000	5.00000	30,290.00	9.50000	57,551.00	4.20000	25,443.60
SILT FENC	CE	LF						
0013	158012M	1,001.000	6.00000	6,006.00	11.07000	11,081.07	11.80000	11,811.80
HEAVY DU	JTY SILT FENCE, BI	_ACK LF						
0014	158015M	20.000	0.01000	0.20	10.00000	200.00	36.61000	732.20
HAYBALE		U						
0015	158030M	35.000	125.00000	4,375.00	142.98000	5,004.30	123.91000	4,336.85
INLET FIL	TER TYPE 2, 2' X 4'	U						
0016	158033M	30.000	140.00000	4,200.00	150.15000	4,504.50	186.09000	5,582.70
INLET FIL	TER TYPE 2, 4' X 4'	U						
0017	158055M	4.000	0.01000	0.04	0.25000	1.00	500.00000	2,000.00
SEDIMEN [*]	T CONTROL BAG	U						



Page 28 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) GREEN CONSTRUCTION, INC.		(2) MIDL CONSTRUC		(3) EARLE ASPHALT COMPANY	
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0004	Erosion Control	Cat Alt S		t Set: Cat Al		nt Alt Member:	
0018	158060M	250.000	50.00000	12,500.00	25.51000	6,377.50	56.14000	14,035.00
CONSTR	UCTION DRIVEWAY	Т						
0019	158063P	(1)	7,500.00000	7,500.00	1.00000	1.00	5,000.00000	5,000.00
CONCRE	TE WASHOUT SYSTEM	1 LS						
0020	158072M	2.000	850.00000	1,700.00	1,100.00000	2,200.00	600.00000	1,200.00
OIL ONL' TYPE 1	Y EMERGENCY SPILL K	IIT, U						
0021	158084M	1,394.000	0.01000	13.94	3.35000	4,669.90	0.01000	13.94
EROSION REMOVA	N CONTROL SEDIMENT	CY						
0137	806018P	2,081.000	1.00000	2,081.00	1.21000	2,518.01	1.96000	4,078.76
FERTILIZ F	ZING AND SEEDING, TY	PE SY						



Page 29 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

Line No / Item ID Item Description			(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		LE ASPHALT MPANY
Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$68,666.18 \$94,108.28 \$74,234.85



Page 30 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set	t / Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0005 General Lands		cape Cat Alt		t Set: Cat Al		at Alt Member:	
0131	802003M	12.000	475.00000	5,700.00	630.00000	7,560.00	367.50000	4,410.00
	IG EXISTING TREE, OV " DIAMETER	ÆR U						
0133	804015P	574.000	42.00000	24,108.00	60.90000	34,956.60	28.25000	16,215.50
BORRO	W TOPSOIL	CY						
0135	805003M	3,000.000	3.55000	10,650.00	7.35000	22,050.00	4.00000	12,000.00
TURF RE	EPAIR STRIP	LF						
0138	806024P	777.000	3.75000	2,913.75	1.31000	1,017.87	2.94000	2,284.38
FERTILIZ W	ZING AND SEEDING, TY	PE SY						
0139	806033P	2,446.000	0.75000	1,834.50	1.21000	2,959.66	2.94000	7,191.24
FERTILIZ MAINTEI	ZING AND SEEDING, LO NANCE	OW SY						



Page 31 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	SECTION: 0005 General Land		cape Cat Alt		t Set: Cat A		It Member:	
0141	809006M	16,295.000	0.60000	9,777.00	2.57000	41,878.15	0.98000	15,969.10
FIBER MUI	LCHING	SY						
0142	811006M	25.000	525.00000	13,125.00	792.75000	19,818.75	470.40000	11,760.00
LARGE DE CALIPER, I	CIDUOUS TREE, 2- B&B	2 1/2" U						
0143	811018M	3.000	50.00000	150.00	39.90000	119.70	49.00000	147.00
	CIDUOUS TREE, 5 15-18" HIGH, POT (ER	U OR						
0144	811019M	10.000	375.00000	3,750.00	792.75000	7,927.50	352.80000	3,528.00
	CIDUOUS TREE, 8- TI-STEM, B&B	10' U						
0145	811024M	15.000	485.00000	7,275.00	771.75000	11,576.25	470.40000	7,056.00
SMALL DE CALIPER,	CIDUOUS TREE, 2-2 B&B	2 1/2" U						



Page 32 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0005	General Landso	cape Cat Al		t Set:	Cat Alt Member:		
0146	811029M	16.000	355.00000	5,680.00	127.05000	2,032.80	323.40000	5,174.40
SMALL D	DECIDUOUS TREE, 6 B	-7' U						
0147	811039M	11.000	235.00000	2,585.00	687.75000	7,565.25	323.40000	3,557.40
EVERGR	REEN TREE, 6-7' HIG	H, B&B U						
0148	811056M	16.000	95.00000	1,520.00	127.05000	2,032.80	161.70000	2,587.20
DECIDU(B&B	OUS SHRUB, 4-5' HIC	GH, U						
0149	811057M	14.000	72.00000	1,008.00	122.85000	1,719.90	132.30000	1,852.20
DECIDU(B&B	OUS SHRUB, 3-4' HIC	GH, U						
0150	811060M	15.000	52.00000	780.00	110.25000	1,653.75	58.80000	882.00
DECIDU(B&B	OUS SHRUB, 24-30"	HIGH, U						



Page 33 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0005	General Lands	cape	Cat Alt	Set:	Cat A	It Member:	
0151	811111M	17.000	18.00000	306.00	17.85000	303.45	24.50000	416.50
PERENN	IIAL, #1 CONTAINER	U						
0152	811120M	2,070.000	4.75000	9,832.50	5.15000	10,660.50	3.19000	6,603.30
PERENN	IIAL, 2" PLUG	U						
0153	811138M	(1)	8,500.00000	8,500.00	15,750.00000	15,750.00	14,700.00000	14,700.00
PLANT E	STABLISHMENT PE	RIOD LS						
Section	on Totals:			\$109.494.75		\$191.582.93		\$116.334.22



Page 34 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006 Route 34 Culv 150)		ert (Structure NO.	. 1307- Cat Alt	Set:	Cat A	It Member:	
0154 162005P	(1)	29,131.98000	29,131.98	39,000.00000	39,000.00	37,389.00000	37,389.00
VIBRATION MONITORING	LS						
0155 201006P	(1)	502,450.00000	502,450.00	502,000.00000	502,000.00	502,450.00000	502,450.00
CLEARING SITE, BRIDGE (_ Bridge (1307-150)) LS						
0156 201039P	(1)	0.01000	0.01	1.00000	1.00	0.01000	0.01
TEMPORARY SHIELDING	LS						
0157 203009P	175.000	75.00000	13,125.00	76.71000	13,424.25	66.92000	11,711.00
I-9 SOIL AGGREGATE	CY						
0158 504003P	361,800.000	1.75000	633,150.00	1.78000	644,004.00	2.00000	723,600.00
REINFORCEMENT STEEL	LB						



Section Totals:

Tabulation of Bids

Page 35 of 121

\$2,575,266.36

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		\ <i>,</i>	E ASPHALT IPANY
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	ert (Structure NO	. 1307- Cat Ali	t Set:	Cat A	It Member:		
0159 504012P	1,500.000	575.00000	862,500.00	473.11000	709,665.00	850.00000	1,275,000.00
CONCRETE CULVERT, STRUCTURES	CY						
0160 504036P	395.000	55.00000	21,725.00	44.14000	17,435.30	63.53000	25,094.35
EPOXY WATERPROOFING	SY						
0161 514012P	2,200.000	130.00000	286,000.00	24.19000	53,218.00	0.01000	22.00
TEMPORARY WALL	SF						

\$2,348,081.99

\$1,978,747.55



Page 36 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007	Retaining Wall	Location NO.1	Cat Alt	Set:	Cat A	It Member:	
0162 513003P	2,700.000	150.00000	405,000.00	234.50000	633,150.00	155.00000	418,500.00
RETAINING WALL, LOCATIO	ON NO. SF						
Section Totals:			\$405,000.00		\$633,150.00		\$418,500.00



Page 37 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0008	Retaining Wall	Location NO.2	Cat Alt	Set:	Cat A	It Member:	
0163 513003P	3,125.000	150.00000	468,750.00	224.00000	700,000.00	150.00000	468,750.00
RETAINING WALL, LOCATIO	ON NO. SF						
Section Totals:			\$468,750.00		\$700,000.00		\$468,750.00



Page 38 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) GREEN CON		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0009	Butterfly Sign S NO. 1307-207)	Support NO. 1 (St	ructure Cat Ali	Set:	Cat A	It Member:	
0164	201009P	(1)	5,000.00000	5,000.00	25,000.00000	25,000.00	25,000.00000	25,000.00
	NG SITE, STRUCTURI ucture (1307-207)	E LS						
0165	202009P	8.000	250.00000	2,000.00	121.84000	974.72	245.00000	1,960.00
EXCAVA	TION, UNCLASSIFIE	CY CY						
0166	501003P	77.000	40.00000	3,080.00	59.88000	4,610.76	39.20000	3,018.40
TEMPOR	RARY SHEETING	SF						
0167	503003P	(1)	10,000.00000	10,000.00	5,557.45000	5,557.45	9,800.00000	9,800.00
FURNISH EQUIPM	HING DRILLED SHAF ENT	T LS						
0168	503012M	1.000	2,500.00000	2,500.00	1,556.08000	1,556.08	2,450.00000	2,450.00
CROSSH	HOLE SONIC LOGGIN	G U						



Page 39 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Cont	ract bescription.	NOOTE 34, BINDO	IL OVER I ORIVI	LIVI IVELITOED	AND SAMESBO	NO NAILNOAD		
	lo / Item ID escription		(1) GREEN CONSTRUCTION, INC.		(2) MIDI CONSTRUC	LANTIC CTION, LLC	(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0009	Butterfly Sign S NO. 1307-207)	Support NO. 1 (S	tructure Cat Al	t Set:	Cat A	It Member:	
0169	503015M	15.000	1.00000	15.00	250.09000	3,751.35	0.98000	14.70
SHAFT C	CORING	LF						
0170	503021M	15.000	950.00000	14,250.00	518.83000	7,782.45	931.00000	13,965.00
DRILLED DIAMETI	SHAFT IN SOIL 48" ER	LF						
0171	503048M	5.000	400.00000	2,000.00	0.22000	1.10	392.00000	1,960.00
OBSTRU	ICTION REMOVAL	LF						
0172	503051M	1.000	500.00000	500.00	639.11000	639.11	490.00000	490.00
TOMOGI	RAPHY	U						
0173	504006P	1,050.000	5.00000	5,250.00	1.62000	1,701.00	4.90000	5,145.00
REINFOI COATED	RCEMENT STEEL, EP	OXY- LB						



Page 40 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

	No / Item ID Description		(1) GREEN CONSTRUCTION, INC.		(2) MIDLANTIC CONSTRUCTION, LLC		(3) EARLE ASPHALT COMPANY	
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0009	Butterfly Sign S NO. 1307-207)	Support NO. 1 (St	tructure Cat Alt	Set:	Cat A	It Member:	
0174	504026P	4.000	2,500.00000	10,000.00	1,404.37000	5,617.48	2,450.00000	9,800.00
CONCR CAP, HF	ETE PIER COLUMN A	AND CY						
0175	512009M	1.000	67,700.00000	67,700.00	40,000.00000	40,000.00	66,346.00000	66,346.00
	RFLY SIGN SUPPORT	,						
Secti	ion Totals:			\$122,295.00		\$97,191.50		\$139,949.10
	Con	tract Totals		\$9,650,656.98		\$9,871,974.20		\$10,313,313.13
	Cost P	lus Time Totals		\$9,650,656.98		\$9,871,974.20		10,313,313.13

() indicates item is bid as Lump Sum



Page 41 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item Item Descript			(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		A DECICCO, INC.
Alt Set / Alt M	ember Quantity and	Units Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	001 Roadwa	у	Cat Al	t Set:	Cat A	Alt Member:	
0001 15100	06M 1.	73,000.0000	73,000.00	55,000.00000	55,000.00	75,000.00000	75,000.00
PERFORMANCE PAYMENT BONI		OLL					
0004 15300	03P	(1) 25,000.00000	25,000.00	3,000.00000	3,000.00	20,000.00000	20,000.00
PROGRESS SC	HEDULE	LS					
0005 15300	05M 11.	.000 100.00000	1,100.00	250.00000	2,750.00	700.00000	7,700.00
PROGRESS SC	HEDULE UPDATE	U					
0006 1530	11M 1,210	.000 1.00000	1,210.00	1.00000	1,210.00	1.00000	1,210.00
TRAINEES	НС	DUR					
0007 15400	03P	(1) 1,423,000.00000	1,423,000.00	1,288,400.00000	1,288,400.00	1,300,000.00000	1,300,000.00
MOBILIZATION		LS					
0011 15700	04M 1.	.000 150,000.00000	150,000.00	125,000.00000	125,000.00	263,517.56000	263,517.56
CONSTRUCTIO	N LAYOUT D	OLL					



Page 42 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / I			(4) NEW PRINC CONSTRUCTION		(5) RITACCO CO		(6) ANSELMI & DECICCO, INC.	
Alt Set / Al	It Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0022 15	59003M	30.000	150.00000	4,500.00	50.00000	1,500.00	100.00000	3,000.00
BREAKAWA	Y BARRICADE	U						
0023 15	59006M	125.000	100.00000	12,500.00	20.00000	2,500.00	100.00000	12,500.00
DRUM		U						
0024 15	59009M	125.000	25.00000	3,125.00	5.00000	625.00	20.00000	2,500.00
TRAFFIC CO	DNE	U						
0025 15	59012M	1,842.000	18.00000	33,156.00	12.00000	22,104.00	25.00000	46,050.00
CONSTRUC	TION SIGNS	SF						
0026 15	59015M	2.000	1,000.00000	2,000.00	750.00000	1,500.00	2,500.00000	5,000.00
CONSTRUCT SIGN, 4' X 8'	TION IDENTIFICATION	DN U						
0027 15	59021P	6,000.000	72.00000	432,000.00	60.00000	360,000.00	20.00000	120,000.00
CONSTRUC	TION BARRIER CUR	B LF						



Page 43 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		DECICCO, INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0028 159027M	2.000	6,500.00000	13,000.00	500.00000	1,000.00	3,000.00000	6,000.00
FLASHING ARROW BOARD,	4' X 8' U						
0029 159030M	4.000	22,000.00000	88,000.00	1,000.00000	4,000.00	7,500.00000	30,000.00
PORTABLE VARIABLE MESS. SIGN	AGE U						
0030 159054M	4.000	8,500.00000	34,000.00	6,500.00000	26,000.00	5,500.00000	22,000.00
TEMPORARY CRASH CUSHIO INERTIAL BARRIER SYSTEM MODULES							
0031 159108M	2.000	35,000.00000	70,000.00	1,500.00000	3,000.00	25,000.00000	50,000.00
TRAFFIC CONTROL TRUCK N MOUNTED CRASH CUSHION	• • • • • • • • • • • • • • • • • • • •						
0032 159138M	50.000	200.00000	10,000.00	50.00000	2,500.00	350.00000	17,500.00
HMA PATCH	Т						



Page 44 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description	(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Cat Al	t Set:	Cat A	It Member:	
0033 159141M 80.000	125.00000	10,000.00	90.00000	7,200.00	90.00000	7,200.00
TRAFFIC DIRECTOR, FLAGGER HOUR						
0035 160004M 1.000	14,000.00000	14,000.00	14,000.00000	14,000.00	14,000.00000	14,000.00
FUEL PRICE ADJUSTMENT DOLL						
0036 160007M 1.000	18,800.00000	18,800.00	18,800.00000	18,800.00	18,800.00000	18,800.00
ASPHALT PRICE ADJUSTMENT DOLL						
0037 161003P (1)	20,000.00000	20,000.00	7,500.00000	7,500.00	2,500.00000	2,500.00
FINAL CLEANUP LS						
0038 201003P (1)	110,000.00000	110,000.00	210,000.00000	210,000.00	110,000.00000	110,000.00
CLEARING SITE LS						
0039 202003P 2.200	7,000.00000	15,400.00	3,000.00000	6,600.00	10,000.00000	22,000.00
STRIPPING ACRE						



Page 45 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	lo / Item ID escription		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0040	202006M	50.000	375.00000	18,750.00	50.00000	2,500.00	250.00000	12,500.00
EXCAVA	TION, TEST PIT	CY						
0041	202009P	20,911.000	35.00000	731,885.00	30.00000	627,330.00	40.00000	836,440.00
EXCAVA	TION, UNCLASSIFIE	D CY						
0042	202021P	7,942.000	30.00000	238,260.00	20.00000	158,840.00	50.00000	397,100.00
REMOVA	AL OF PAVEMENT	SY						
0043	203021P	782.000	35.00000	27,370.00	40.00000	31,280.00	10.00000	7,820.00
I-14 SOIL	AGGREGATE	CY						
0044	203043P	240.000	30.00000	7,200.00	20.00000	4,800.00	35.00000	8,400.00
GEOGRI	D REINFORCEMENT	r sy						
0045	301006P	3,188.000	65.00000	207,220.00	40.00000	127,520.00	60.00000	191,280.00
SUBBAS	E	CY						
0045	301006P	3,188.000	65.00000	207,220.00	40.00000	127,520.00	60.00000	191,280.0



Page 46 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0046 302042P	14,031.000	11.00000	154,341.00	15.00000	210,465.00	16.00000	224,496.00
DENSE-GRADED AGGRE BASE COURSE, 8" THICK							
0047 401009P	8,789.000	5.85000	51,415.65	8.00000	70,312.00	6.00000	52,734.00
HMA MILLING, 3" OR LES	S SY						
0048 401021M	60.000	70.00000	4,200.00	50.00000	3,000.00	90.00000	5,400.00
HOT MIX ASPHALT PAVE REPAIR	MENT SY						
0049 401024M	1,000.000	10.00000	10,000.00	1.00000	1,000.00	3.00000	3,000.00
SEALING OF CRACKS IN ASPHALT SURFACE COL	-						
0050 401027M	10,750.000	0.75000	8,062.50	1.00000	10,750.00	1.10000	11,825.00
POLYMERIZED JOINT AD	HESIVE LF						



Page 47 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0051	401030M	4,080.000	5.00000	20,400.00	8.00000	32,640.00	1.10000	4,488.00
TACK CC	PAT	GAL						
0052	401036M	1,130.000	0.01000	11.30	0.01000	11.30	2.90000	3,277.00
PRIME C	OAT	GAL						
0053	401054M	2,614.000	95.00000	248,330.00	105.00000	274,470.00	110.00000	287,540.00
	ASPHALT 12.5 M 64 E COURSE	Т						
0054	401084M	3,398.000	90.00000	305,820.00	100.00000	339,800.00	100.00000	339,800.00
-	ASPHALT 19 M 64 EDIATE COURSE	Т						
0055	401099M	4,415.000	85.00000	375,275.00	100.00000	441,500.00	100.00000	441,500.00
HOT MIX COURSE	ASPHALT 25 M 64 E	BASE T						



Page 48 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		DECICCO, INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0056 401108M	50.000	250.00000	12,500.00	400.00000	20,000.00	90.00000	4,500.00
CORE SAMPLES, HOT MIX ASPHALT	U						
0057 453006M	200.000	180.00000	36,000.00	50.00000	10,000.00	200.00000	40,000.00
FULL DEPTH CONCRETE PAVEMENT REPAIR, HMA	SY						
0058 601122P	3,711.000	68.00000	252,348.00	70.00000	259,770.00	100.00000	371,100.00
15" REINFORCED CONCRET PIPE	TE LF						
0059 601124P	1,969.000	70.00000	137,830.00	75.00000	147,675.00	125.00000	246,125.00
18" REINFORCED CONCRET PIPE	TE LF						
0060 601128P	54.000	100.00000	5,400.00	110.00000	5,940.00	150.00000	8,100.00
24" REINFORCED CONCRET PIPE	TE LF						



Page 49 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0061	601372M	1.000	2,000.00000	2,000.00	1,250.00000	1,250.00	1,500.00000	1,500.00
18" REINF SECTION	FORCED CONCRETE E	ND U						
0062	601376M	1.000	2,500.00000	2,500.00	1,750.00000	1,750.00	2,000.00000	2,000.00
24" REINF SECTION	FORCED CONCRETE E	:ND U						
0064	602012M	16.000	3,500.00000	56,000.00	3,000.00000	48,000.00	5,000.00000	80,000.00
INLET, TY	PE B	U						
0065	602018M	18.000	3,600.00000	64,800.00	3,250.00000	58,500.00	6,000.00000	108,000.00
INLET, TY	PE E	U						
0066	602054M	4.000	3,500.00000	14,000.00	2,500.00000	10,000.00	5,000.00000	20,000.00
MANHOLE	E, 4' DIAMETER	U						



Page 50 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Al	lt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0067 60	02057M	1.000	5,000.00000	5,000.00	3,000.00000	3,000.00	8,000.00000	8,000.00
MANHOLE, 5	5' DIAMETER	U						
0068 60	02129M	2.000	2,500.00000	5,000.00	1,250.00000	2,500.00	2,000.00000	4,000.00
	UCTED INLET, TYPE TING CASTING	EE, U						
0070 60	02223M	1.000	8,000.00000	8,000.00	12,000.00000	12,000.00	15,000.00000	15,000.00
OUTLET CO	NTROL STRUCTURI	E U						
0071 60	03036P	121.000	100.00000	12,100.00	40.00000	4,840.00	55.00000	6,655.00
	ONE CHANNEL N, 12" THICK (D50=6	SY 6")						
0072 60	03057P	1,418.000	90.00000	127,620.00	70.00000	99,260.00	50.00000	70,900.00
ROCK BACK	FILL	Т						



Page 51 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0073 605045P	684.000	47.00000	32,148.00	35.00000	23,940.00	35.00000	23,940.00
CHAIN-LINK FENCE, 6' HIG	H LF						
0074 605165M	1.000	3,000.00000	3,000.00	2,000.00000	2,000.00	1,200.00000	1,200.00
GATE, CHAIN-LINK FENCE, WIDE	, 20' U						
0075 606012P	13.000	120.00000	1,560.00	150.00000	1,950.00	100.00000	1,300.00
CONCRETE SIDEWALK, 4"	THICK SY						
0076 606039P	1,624.000	32.00000	51,968.00	40.00000	64,960.00	45.00000	73,080.00
HOT MIX ASPHALT DRIVEY THICK	VAY, 6" SY						
0077 606095P	48.000	150.00000	7,200.00	150.00000	7,200.00	500.00000	24,000.00
TURF PAVERS	SY						



Page 52 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		DECICCO, INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0078 607018P	4,134.000	28.00000	115,752.00	28.00000	115,752.00	40.00000	165,360.00
9" X 16" CONCRETE VERTICURB	CAL LF						
0079 607034P	469.000	28.00000	13,132.00	25.00000	11,725.00	38.00000	17,822.00
9" X 14" CONCRETE VERTICURB	CAL LF						
0080 607076P	87.000	40.00000	3,480.00	35.00000	3,045.00	45.00000	3,915.00
BELGIAN BLOCK CURB	LF						
0081 608003P	2,174.000	32.00000	69,568.00	37.00000	80,438.00	35.00000	76,090.00
NONVEGETATIVE SURFAC MIX ASPHALT	E, HOT SY						
0082 609003M	1,891.000	31.00000	58,621.00	25.00000	47,275.00	22.00000	41,602.00
BEAM GUIDE RAIL	LF						



Page 53 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set /	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0083	609006M	257.000	47.00000	12,079.00	35.00000	8,995.00	29.00000	7,453.00
BEAM GU	IDE RAIL, DUAL-FACE	D LF						
0084	609024M	2.000	3,200.00000	6,400.00	2,400.00000	4,800.00	2,100.00000	4,200.00
FLARED (GUIDE RAIL TERMINA	L U						
0085	609027M	2.000	3,800.00000	7,600.00	2,800.00000	5,600.00	2,800.00000	5,600.00
TANGENT	GUIDE RAIL TERMIN	AL U						
0086	609030M	2.000	7,200.00000	14,400.00	5,000.00000	10,000.00	4,200.00000	8,400.00
TELESCO TERMINA	PING GUIDE RAIL EN L	D U						
0087	609039M	5.000	1,600.00000	8,000.00	1,400.00000	7,000.00	110.00000	550.00
BEAM GU	IDE RAIL ANCHORAG	E U						



Page 54 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0088 609059M	4.000	5,000.00000	20,000.00	3,250.00000	13,000.00	3,000.00000	12,000.00
APPROACH GUIDE RAIL TRANSITION TL-3	U						
0089 609063M	740.000	19.00000	14,060.00	12.00000	8,880.00	15.00000	11,100.00
RESET BEAM GUIDE RAIL WITH EXISTING POSTS	H LF						
0090 609075M	1,780.000	5.00000	8,900.00	3.00000	5,340.00	10.00000	17,800.00
REMOVAL OF BEAM GUIDE RA	IL LF						
0091 610003M	52,305.000	0.50000	26,152.50	0.35000	18,306.75	0.30000	15,691.50
TRAFFIC STRIPES, 4"	LF						
0092 610007M	655.000	1.00000	655.00	0.65000	425.75	0.60000	393.00
TRAFFIC STRIPES, 8"	LF						



Page 55 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member Qua	intity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0093 610012M	80.000	31.00000	2,480.00	45.00000	3,600.00	44.00000	3,520.00
RPM, MONO-DIRECTIONAL, WHITLENS	ΓE U						
0094 610018M	65.000	31.00000	2,015.00	45.00000	2,925.00	44.00000	2,860.00
RPM, MONO-DIRECTIONAL, AMBER LENS	U						
0095 610024M	145.000	15.00000	2,175.00	35.00000	5,075.00	40.00000	5,800.00
REMOVAL OF RPM	U						
0096 610036M	29,300.000	0.75000	21,975.00	0.60000	17,580.00	1.00000	29,300.00
REMOVAL OF TRAFFIC STRIPES	LF						
0097 612003P	35.000	45.00000	1,575.00	35.00000	1,225.00	50.00000	1,750.00
REGULATORY AND WARNING SIGN	SF						



Page 56 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0098 651057P	710.000	180.00000	127,800.00	200.00000	142,000.00	200.00000	142,000.00
8" DUCTILE IRON WATER PIPE, CLASS 52	LF						
0099 651063P	50.000	200.00000	10,000.00	750.00000	37,500.00	325.00000	16,250.00
12" DUCTILE IRON WATER PIPE, CLASS 52	LF						
0100 651243M	9.000	5,000.00000	45,000.00	5,500.00000	49,500.00	4,000.00000	36,000.00
WATER SERVICE CONNECTION	U						
0101 651246M	3.000	8,000.00000	24,000.00	10,500.00000	31,500.00	1,000.00000	3,000.00
FIRE HYDRANT	U						
0102 654007P	(1)	715,000.00000	715,000.00	525,000.00000	525,000.00	613,000.00000	613,000.00
ELECTRICAL UTILITY RELOCATION, JCPL	LS						



Page 57 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Memb	Alt Set / Alt Member Quantity and Units		Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:		
0103 655021P	1.000	5,000.00000	5,000.00	45,000.00000	45,000.00	60,000.00000	60,000.00	
FIBER OPTIC UTILITY RELOCATION, FTS	TY LS							
0104 701011P	245.000	55.00000	13,475.00	70.00000	17,150.00	170.00000	41,650.00	
1 1/2" RIGID METAL PVC COATED	LIC CONDUIT, LF							
0105 701015P	181.000	43.00000	7,783.00	75.00000	13,575.00	40.00000	7,240.00	
2" RIGID METALLIC	CONDUIT LF							
0106 701020P	49.000	78.00000	3,822.00	110.00000	5,390.00	190.00000	9,310.00	
3" RIGID METALLIC COATED	CONDUIT, PVC LF							
0107 701021P	83.000	64.00000	5,312.00	90.00000	7,470.00	55.00000	4,565.00	
3" RIGID METALLIC	CONDUIT LF							



Page 58 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member Quantity and Units			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0108	701044P	39.000	26.00000	1,014.00	50.00000	1,950.00	45.00000	1,755.00
3/4" FLEXI	IBLE METALLIC CONDU	T LF						
0109	701102M	2.000	2,650.00000	5,300.00	2,250.00000	4,500.00	2,000.00000	4,000.00
18" X 36" 、	JUNCTION BOX	U						
0110	701108M	7.000	1,400.00000	9,800.00	2,450.00000	17,150.00	1,250.00000	8,750.00
12" X 10" X BOX	X 8" METAL JUNCTION	U						
0111	701159M	1.000	2,800.00000	2,800.00	3,000.00000	3,000.00	3,000.00000	3,000.00
FOUNDAT	TION, TYPE 1M-MC	U						
0112	701177M	1.000	11,000.00000	11,000.00	9,750.00000	9,750.00	1,000.00000	1,000.00
METER CA	ABINET, TYPE 1M-MC	U						
0113	701192P	701.000	2.50000	1,752.50	2.50000	1,752.50	3.00000	2,103.00
GROUND	WIRE, NO. 8 AWG	LF						



Page 59 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINC CONSTRUCTI		(5) RITACCO CO		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0114 701195P	609.000	4.50000	2,740.50	5.00000	3,045.00	4.00000	2,436.00
MULTIPLE LIGHTING WIF	RE, NO. 2 LF						
0115 701198P	1,608.000	2.50000	4,020.00	4.00000	6,432.00	4.00000	6,432.00
MULTIPLE LIGHTING WIF	RE, NO. 6 LF						
0116 701204P	91.000	3.00000	273.00	5.00000	455.00	6.00000	546.00
MULTIPLE LIGHTING WIF	RE, NO. 10 LF						
0117 701210P	456.000	7.00000	3,192.00	6.00000	2,736.00	7.00000	3,192.00
SERVICE WIRE, NO. 2 AV	VG LF						
0118 703027M	7.000	2,500.00000	17,500.00	2,250.00000	15,750.00	2,000.00000	14,000.00
UNDERDECK LIGHTING	TYPE P U						



Page 60 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	/ Item ID scription		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CO		(6) ANSELMI & DECICCO, INC.	
Alt Set /	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0119	704002M	2,369.000	79.00000	187,151.00	59.00000	139,771.00	30.00000	71,070.00
ITS COND	UIT, TYPE A	LF						
0120	704003M	2.000	3,500.00000	7,000.00	4,500.00000	9,000.00	5,500.00000	11,000.00
JUNCTION	N BOX ITS TYPE A	U						
0121	704009M	6.000	2,000.00000	12,000.00	3,750.00000	22,500.00	2,000.00000	12,000.00
JUNCTION	BOX ITS TYPE C	U						
0122	704011M	1.000	4,100.00000	4,100.00	3,250.00000	3,250.00	3,000.00000	3,000.00
METER CA	ABINET ITS	U						
0123	704014M	1.000	1,200.00000	1,200.00	2,250.00000	2,250.00	1,600.00000	1,600.00
FOUNDAT	ION, ITS	U						
0124	704024M	1.000	2,300.00000	2,300.00	2,750.00000	2,750.00	3,800.00000	3,800.00
FOUNDAT	TION ITS TYPE D	U						



Page 61 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CO		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0125 704033P	(1)	9,000.00000	9,000.00	3,750.00000	3,750.00	6,000.00000	6,000.00
CONTROL CENTER SYSTEM LOCATION NO STMC	, LS						
0126 704033P	(1)	12,000.00000	12,000.00	3,750.00000	3,750.00	7,000.00000	7,000.00
CONTROL CENTER SYSTEM LOCATION NO TOCS	, LS						
0127 704060M	1.000	7,800.00000	7,800.00	14,000.00000	14,000.00	10,000.00000	10,000.00
CAMERA	U						
0128 999999P	1.000	0.00000	0.00	0.00000	0.00	0.00000	0.00
NO ITEM	U						
0129 704171M	1.000	125,000.00000	125,000.00	110,000.00000	110,000.00	100,000.00000	100,000.00
DMS SIGN	U						



Page 62 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINC CONSTRUCTI		(5) RITACCO CC		(6) ANSELMI & DECICCO, INC.	
Alt Set	/ Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 Roadway		Cat Alt S		t Set:	Cat A	Alt Member:	
0130	704183M	1.000	16,000.00000	16,000.00	27,500.00000	27,500.00	18,000.00000	18,000.00
CONTRO	LLER, DMS	U						
0132	804006P	13,435.000	3.00000	40,305.00	3.00000	40,305.00	3.50000	47,022.50
TOPSOIL	ING, 4" THICK	SY						
0134	804030P	519.000	80.00000	41,520.00	70.00000	36,330.00	100.00000	51,900.00
BIORETE	NTION SOIL MIXTURE	CY						
0136	806006P	10,991.000	1.00000	10,991.00	1.00000	10,991.00	1.00000	10,991.00
FERTILIZ A-3	ING AND SEEDING, TY	PE SY						
0140	807003M	5,488.000	4.50000	24,696.00	4.50000	24,696.00	4.00000	21,952.00
TOPSOIL MAT	STABILIZATION, TYPE	E1 SY						



Page 63 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0176	704185M	1.000	7,700.00000	7,700.00	0.01000	0.01	8,000.00000	8,000.00
CONTRO DMS	OLLER MODIFICATION	ONS, U						
0177	504046P	955.000	31.00000	29,605.00	25.00000	23,875.00	30.00000	28,650.00
PAINTIN SURFAC	IG OF CONCRETE CE	SY						
Secti	on Totals:			\$7,773,276.95		\$7,071,253.31		\$7,916,898.56



Page 64 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Construction E	ngineering	Cat Al	t Set:	Cat A	It Member:	
0008 155009M	1.000	75,000.00000	75,000.00	7,500.00000	7,500.00	75,000.00000	75,000.00
FIELD OFFICE TYPE C SET	TUP U						
0009 155027M	25.000	3,500.00000	87,500.00	1,500.00000	37,500.00	4,000.00000	100,000.00
FIELD OFFICE TYPE C MAINTENANCE	МО						
0010 156015M	1.000	10,000.00000	10,000.00	10,500.00000	10,500.00	5,000.00000	5,000.00
NUCLEAR DENSITY GAUG	E U						
Section Totals:			\$172,500.00		\$55,500.00		\$180,000.00



Page 65 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINC CONSTRUCTI		(5) RITACCO CO		(6) ANSELMI & DECICCO, INC.	
Alt Set /	Alt Member Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0003	Non-Participati	ng Roadway	Cat Al	t Set:	Cat A	It Member:	
0002	152004P	1.000	8,500.00000	8,500.00	9,000.00000	9,000.00	5,000.00000	5,000.00
	AND CONTRACTOR'S IVE LIABILITY CE	DOLL						
0003	152015P	1.000	25,000.00000	25,000.00	14,000.00000	14,000.00	5,000.00000	5,000.00
POLLUTIO	N LIABILITY INSURANCE	DOLL						
0034	159190M	(1)	1.00000	1.00	5,000.00000	5,000.00	10,000.00000	10,000.00
SNOW REI	MOVAL	LS						
0063	601670M	545.000	10.00000	5,450.00	8.00000	4,360.00	25.00000	13,625.00
CLEANING 24" DIAME	EXISTING PIPE, 12" TO TER	LF						
0069	602216M	10.000	500.00000	5,000.00	300.00000	3,000.00	500.00000	5,000.00
CLEANING STRUCTUR	G DRAINAGE RE	U						



Page 66 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Section Totals:			\$43,951.00		\$35,360.00		\$38,625.00



Page 67 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item Des			(4) NEW PRINC CONSTRUCTI		(5) RITACCO CO		(6) ANSELMI & DECICCO, INC.	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	Erosion Control		Cat Al	t Set:	Cat A	It Member:	
0012	158006M	6,058.000	4.00000	24,232.00	5.00000	30,290.00	5.00000	30,290.00
SILT FENC	E	LF						
0013	158012M	1,001.000	10.00000	10,010.00	7.00000	7,007.00	10.00000	10,010.00
HEAVY DU	TY SILT FENCE, B	LACK LF						
0014	158015M	20.000	50.00000	1,000.00	25.00000	500.00	20.00000	400.00
HAYBALE		U						
0015	158030M	35.000	190.00000	6,650.00	150.00000	5,250.00	145.00000	5,075.00
INLET FILT	ER TYPE 2, 2' X 4'	U						
0016	158033M	30.000	300.00000	9,000.00	200.00000	6,000.00	200.00000	6,000.00
INLET FILT	ER TYPE 2, 4' X 4'	U						
0017	158055M	4.000	500.00000	2,000.00	400.00000	1,600.00	200.00000	800.00
SEDIMENT	CONTROL BAG	U						



Page 68 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CO		(6) ANSELMI & DECICCO, INC.	
Alt Set / A	Alt Member Quan	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004 E	Erosion Control		Cat Alt	t Set:	Cat A	It Member:	
0018 1	58060M	250.000	1.00000	250.00	30.00000	7,500.00	40.00000	10,000.00
CONSTRUC	CTION DRIVEWAY	Т						
0019 1	58063P	(1)	10,000.00000	10,000.00	4,500.00000	4,500.00	10,000.00000	10,000.00
CONCRETE	WASHOUT SYSTEM	LS						
0020 1	58072M	2.000	2,500.00000	5,000.00	500.00000	1,000.00	400.00000	800.00
OIL ONLY E TYPE 1	MERGENCY SPILL KIT,	U						
0021 1	58084M	1,394.000	0.01000	13.94	0.01000	13.94	0.01000	13.94
EROSION C	CONTROL SEDIMENT	CY						
0137 8	306018P	2,081.000	1.25000	2,601.25	1.00000	2,081.00	1.50000	3,121.50
FERTILIZIN F	G AND SEEDING, TYPE	SY						



Page 69 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Section Totals:			\$70,757.19		\$65,741.94		\$76,510.44



Page 70 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set	/ Alt Member Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0005	General Lands	cape	Cat Alt	t Set:	Cat A	It Member:	
0131	802003M	12.000	550.00000	6,600.00	600.00000	7,200.00	1,500.00000	18,000.00
	G EXISTING TREE, OVE DIAMETER	ER U						
0133	804015P	574.000	48.00000	27,552.00	58.00000	33,292.00	45.00000	25,830.00
BORROW	TOPSOIL	CY						
0135	805003M	3,000.000	4.00000	12,000.00	7.00000	21,000.00	4.00000	12,000.00
TURF RE	PAIR STRIP	LF						
0138	806024P	777.000	4.50000	3,496.50	1.00000	777.00	4.00000	3,108.00
FERTILIZ W	ING AND SEEDING, TYP	PE SY						
0139	806033P	2,446.000	1.00000	2,446.00	1.00000	2,446.00	1.00000	2,446.00
FERTILIZ MAINTEN	ING AND SEEDING, LOV ANCE	W SY						



Page 71 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Membe	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0005	General Lands	scape	Cat Al	t Set:	Cat A	It Member:		
0141 809006M	16,295.000	0.75000	12,221.25	2.25000	36,663.75	1.00000	16,295.00	
FIBER MULCHING	SY							
0142 811006M	25.000	600.00000	15,000.00	750.00000	18,750.00	500.00000	12,500.00	
LARGE DECIDUOUS CALIPER, B&B	TREE, 2-2 1/2" U							
0143 811018M	3.000	60.00000	180.00	38.00000	114.00	48.00000	144.00	
LARGE DECIDUOUS SEEDLING 15-18" HIG CONTAINER								
0144 811019M	10.000	450.00000	4,500.00	750.00000	7,500.00	400.00000	4,000.00	
LARGE DECIDUOUS HIGH, MULTI-STEM,	•							
0145 811024M	15.000	560.00000	8,400.00	725.00000	10,875.00	500.00000	7,500.00	
SMALL DECIDUOUS CALIPER, B&B	TREE, 2-2 1/2" U							



Page 72 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINC		(5) RITACCO CO		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	General Lands	cape	Cat Al	t Set:	Cat A	It Member:	
0146 811029M	16.000	425.00000	6,800.00	700.00000	11,200.00	360.00000	5,760.00
SMALL DECIDUOUS T HIGH B&B	TREE, 6-7' U						
0147 811039M	11.000	270.00000	2,970.00	650.00000	7,150.00	250.00000	2,750.00
EVERGREEN TREE, 6	-7' HIGH, B&B U						
0148 811056M	16.000	110.00000	1,760.00	120.00000	1,920.00	100.00000	1,600.00
DECIDUOUS SHRUB, B&B	4-5' HIGH, U						
0149 811057M	14.000	85.00000	1,190.00	115.00000	1,610.00	70.00000	980.00
DECIDUOUS SHRUB, B&B	3-4' HIGH, U						
0150 811060M	15.000	60.00000	900.00	100.00000	1,500.00	50.00000	750.00
DECIDUOUS SHRUB, B&B	24-30" HIGH, U						



Page 73 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	General Lands	cape	Cat Alt	t Set:	Cat A	It Member:	
0151 811111M	17.000	25.00000	425.00	15.00000	255.00	25.00000	425.00
PERENNIAL, #1 CONT.	AINER U						
0152 811120M	2,070.000	6.00000	12,420.00	5.00000	10,350.00	5.00000	10,350.00
PERENNIAL, 2" PLUG	U						
0153 811138M	(1)	95,000.00000	95,000.00	15,000.00000	15,000.00	7,500.00000	7,500.00
PLANT ESTABLISHME	NT PERIOD LS						
Section Totals:			\$213,860.75		\$187,602.75		\$131,938.00



Page 74 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006 Route 34 Cult 150)		ert (Structure NO. 1307- Cat Alt Set:		t Set:	Set: Cat Al		
0154 162005P	(1)	15,000.00000	15,000.00	105,000.00000	105,000.00	5,000.00000	5,000.00
VIBRATION MONITORING	LS						
0155 201006P	(1)	265,000.00000	265,000.00	631,027.00000	631,027.00	502,450.00000	502,450.00
CLEARING SITE, BRIDGE (_ Bridge (1307-150)) LS						
0156 201039P	(1)	25,000.00000	25,000.00	25,000.00000	25,000.00	1.00000	1.00
TEMPORARY SHIELDING	LS						
0157 203009P	175.000	65.00000	11,375.00	70.00000	12,250.00	100.00000	17,500.00
I-9 SOIL AGGREGATE	CY						
0158 504003P	361,800.000	2.70000	976,860.00	1.40000	506,520.00	2.00000	723,600.00
REINFORCEMENT STEEL	LB						



Page 75 of 121

Counties: MONMOUTH Contract ID: 19130

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 Project(s): NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description:	ROUTE 34, BRIDG	E OVER FORMI	ER FREEHOLD	AND JAMESBU	RG RAILROAD		
Line No / Item ID Item Description		(4) NEW PRINC CONSTRUCTI		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, IN	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	Route 34 Culve 150)	ert (Structure NO	. 1307- Cat Ali	t Set:	Cat A	It Member:	
0159 504012P	1,500.000	920.00000	1,380,000.00	1,375.00000	2,062,500.00	1,000.00000	1,500,000.00
CONCRETE CULVERT, STRUCTURES	CY						
0160 504036P	395.000	65.00000	25,675.00	40.00000	15,800.00	100.00000	39,500.00
EPOXY WATERPROOFING	SY						
0161 514012P	2,200.000	1.00000	2,200.00	100.00000	220,000.00	200.00000	440,000.00
TEMPORARY WALL	SF						
Section Totals:			\$2,701,110.00		\$3,578,097.00		\$3,228,051.00



Page 76 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007	Retaining Wall	Location NO.1	Cat Alt	Set:	Cat A	It Member:	
0162 513003P	2,700.000	240.00000	648,000.00	300.00000	810,000.00	250.00000	675,000.00
RETAINING WALL, LOCATIO	ON NO. SF						
Section Totals:			\$648,000.00		\$810,000.00		\$675,000.00



Page 77 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) NEW PRINC CONSTRUCTI		(5) RITACCO CO	,	(6) ANSELMI &	DECICCO, INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0008	Retaining Wall	Location NO.2	Cat Alt	Set:	Cat A	It Member:	
0163 513003P	3,125.000	240.00000	750,000.00	300.00000	937,500.00	250.00000	781,250.00
RETAINING WALL, LOCATIO Location NO. 2	ON NO. SF						
Section Totals:			\$750,000.00		\$937,500.00		\$781,250.00



Page 78 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item I Item Descriptio			(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set / Alt Men	mber Qua	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000		Butterfly Sign S NO. 1307-207)	upport NO. 1 (St	ructure Cat Alt	Set:	Cat A	It Member:	
0164 201009	Р	(1)	5,000.00000	5,000.00	25,000.00000	25,000.00	25,000.00000	25,000.00
CLEARING SITE, () Structure (13		LS						
0165 202009	Р	8.000	125.00000	1,000.00	200.00000	1,600.00	200.00000	1,600.00
EXCAVATION, UN	ICLASSIFIED	CY						
0166 501003	Р	77.000	150.00000	11,550.00	40.00000	3,080.00	1.00000	77.00
TEMPORARY SHI	EETING	SF						
0167 503003	Р	(1)	5,000.00000	5,000.00	10,000.00000	10,000.00	26,000.00000	26,000.00
FURNISHING DRI EQUIPMENT	LLED SHAFT	LS						
0168 503012	М	1.000	3,400.00000	3,400.00	2,000.00000	2,000.00	1,500.00000	1,500.00
CROSSHOLE SOI	NIC LOGGING	U						



Page 79 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(4) NEW PRINC CONSTRUCTI		(5) RITACCO CO		(6) ANSELMI 8	DECICCO, INC.
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
		Butterfly Sign S NO. 1307-207)	Support NO. 1 (Structure Cat Alt Set:		t Set:	Cat Alt Memb		
0169	503015M	15.000	370.00000	5,550.00	1.00000	15.00	200.00000	3,000.00
SHAFT C	CORING	LF						
0170	503021M	15.000	2,100.00000	31,500.00	900.00000	13,500.00	1,800.00000	27,000.00
DRILLED DIAMETE	SHAFT IN SOIL 48" ER	LF						
0171	503048M	5.000	1,100.00000	5,500.00	400.00000	2,000.00	10.00000	50.00
OBSTRU	CTION REMOVAL	LF						
0172	503051M	1.000	4,300.00000	4,300.00	500.00000	500.00	1,000.00000	1,000.00
TOMOGR	RAPHY	U						
0173	504006P	1,050.000	6.00000	6,300.00	5.00000	5,250.00	10.00000	10,500.00
REINFOR COATED	RCEMENT STEEL, EI	POXY- LB						



Page 80 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

Line No			(4) NEW PRINCE CONCRETE CONSTRUCTION CO., INC.		(5) RITACCO CONSTRUCTION, INC.		(6) ANSELMI & DECICCO, INC.	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0009	Butterfly Sign S NO. 1307-207)	support NO. 1 (St	tructure Cat Alt	Set:	Cat A	It Member:	
0174	504026P	4.000	4,500.00000	18,000.00	2,500.00000	10,000.00	2,500.00000	10,000.00
CONCRET	E PIER COLUMN A	ND CY						
0175	512009M	1.000	69,000.00000	69,000.00	70,000.00000	70,000.00	50,000.00000	50,000.00
	Y SIGN SUPPORT, RE Butterfly Structur							
Section	Totals:			\$166,100.00		\$142,945.00		\$155,727.00
	Cont	ract Totals		\$12,539,555.89		\$12,884,000.00		\$13,184,000.00
	Cost Pl	us Time Totals		\$12,539,555.89		\$12,884,000.00		13,184,000.00

() indicates item is bid as Lump Sum



Page 81 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	52,000.00000	52,000.00	72,853.75000	72,853.75		
PERFOR PAYMEN	MANCE BOND AND T BOND	DOLL						
0004	153003P	(1)	10,000.00000	10,000.00	50,000.00000	50,000.00		
PROGRE	SS SCHEDULE	LS						
0005	153005M	11.000	500.00000	5,500.00	0.01000	0.11		
PROGRE	SS SCHEDULE UPD	ATE U						
0006	153011M	1,210.000	1.50000	1,815.00	0.01000	12.10		
TRAINEE	:S	HOUR						
0007	154003P	(1)	1,330,000.00000	1,330,000.00	2,400,000.00000	2,400,000.00		
MOBILIZ	ATION	LS						



Page 82 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONS GROUP			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0011	157004M	1.000	200,000.00000	200,000.00	190,000.00000	190,000.00		
CONSTR	UCTION LAYOUT	DOLL						
0022	159003M	30.000	105.00000	3,150.00	114.70000	3,441.00		
BREAKA'	WAY BARRICADE	U						
0023	159006M	125.000	70.00000	8,750.00	65.46000	8,182.50		
DRUM		U						
0024	159009M	125.000	29.00000	3,625.00	16.02000	2,002.50		
TRAFFIC	CONE	U						
0025	159012M	1,842.000	30.00000	55,260.00	13.71000	25,253.82		
CONSTR	UCTION SIGNS	SF						



Page 83 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CON GROUP			
Alt Set / Alt Member Qua	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0026 159015M	2.000	1,500.00000	3,000.00	997.43000	1,994.86		
CONSTRUCTION IDENTIFICATIO SIGN, 4' X 8'	N U						
0027 159021P	6,000.000	80.00000	480,000.00	92.31000	553,860.00		
CONSTRUCTION BARRIER CURE	LF						
0028 159027M	2.000	7,500.00000	15,000.00	1,246.78000	2,493.56		
FLASHING ARROW BOARD, 4' X	3' U						
0029 159030M	4.000	15,000.00000	60,000.00	15,942.61000	63,770.44		
PORTABLE VARIABLE MESSAGE SIGN	U						
0030 159054M	4.000	17,500.00000	70,000.00	9,917.71000	39,670.84		
TEMPORARY CRASH CUSHION, INERTIAL BARRIER SYSTEM, 14 MODULES	U						



Page 84 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONS GROUP			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0031	159108M	2.000	25,000.00000	50,000.00	9,350.84000	18,701.68		
_	CONTROL TRUCK VED CRASH CUSHION	_						
0032	159138M	50.000	560.00000	28,000.00	436.76000	21,838.00		
HMA PA	TCH	Т						
0033	159141M	80.000	95.00000	7,600.00	100.28000	8,022.40		
TRAFFIC	DIRECTOR, FLAGGI	ER HOUR						
0035	160004M	1.000	14,000.00000	14,000.00	14,000.00000	14,000.00		
FUEL PR	RICE ADJUSTMENT	DOLL						
0036	160007M	1.000	18,800.00000	18,800.00	18,800.00000	18,800.00		
ASPHAL	T PRICE ADJUSTMEN	NT DOLL						



Page 85 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt	Set:	Cat A	It Member:		
0037 1	61003P	(1)	25,000.00000	25,000.00	80,000.00000	80,000.00		
FINAL CLEA	ANUP	LS						
0038 2	201003P	(1)	110,000.00000	110,000.00	110,000.00000	110,000.00		
CLEARING	SITE	LS						
0039 2	202003P	2.200	19,000.00000	41,800.00	25,303.22000	55,667.08		
STRIPPING		ACRE						
0040 2	202006M	50.000	350.00000	17,500.00	373.98000	18,699.00		
EXCAVATIO	ON, TEST PIT	CY						
0041 2	202009P	20,911.000	30.00000	627,330.00	54.20000	1,133,376.20		
EXCAVATIO	ON, UNCLASSIFIED	CY						
0042 2	202021P	7,942.000	18.00000	142,956.00	78.39000	622,573.38		
REMOVAL (OF PAVEMENT	SY						



Page 86 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt Set: Cat A			It Member:	
0043	203021P	782.000	0.01000	7.82	96.57000	75,517.74		
I-14 SOII	AGGREGATE	CY						
0044	203043P	240.000	95.00000	22,800.00	29.45000	7,068.00		
GEOGRI	D REINFORCEMENT	SY						
0045	301006P	3,188.000	85.00000	270,980.00	97.26000	310,064.88		
SUBBAS	E	CY						
0046	302042P	14,031.000	18.00000	252,558.00	22.55000	316,399.05		
_	GRADED AGGREGA ⁻ DURSE, 8" THICK	TE SY						
0047	401009P	8,789.000	9.00000	79,101.00	7.57000	66,532.73		
HMA MIL	LING, 3" OR LESS	SY						



Page 87 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0048	401021M	60.000	235.00000	14,100.00	116.52000	6,991.20		
HOT MIX REPAIR	ASPHALT PAVEME	ENT SY						
0049	401024M	1,000.000	13.00000	13,000.00	5.83000	5,830.00		
-	OF CRACKS IN HOT SURFACE COURS							
0050	401027M	10,750.000	1.25000	13,437.50	1.05000	11,287.50		
POLYME	RIZED JOINT ADHE	SIVE LF						
0051	401030M	4,080.000	6.00000	24,480.00	9.90000	40,392.00		
TACK CC	DAT	GAL						
0052	401036M	1,130.000	0.01000	11.30	0.01000	11.30		
PRIME C	OAT	GAL						



Page 88 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	ON COMPANY, GROUP				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway	Cat Alt Set:			Cat A	It Member:	
0053	401054M	2,614.000	115.00000	300,610.00	121.07000	316,476.98		
_	ASPHALT 12.5 M 64 E COURSE	Т						
0054	401084M	3,398.000	110.00000	373,780.00	119.43000	405,823.14		
_	ASPHALT 19 M 64 EDIATE COURSE	Т						
0055	401099M	4,415.000	100.00000	441,500.00	118.27000	522,162.05		
HOT MIX COURSE	ASPHALT 25 M 64 E	BASE T						
0056	401108M	50.000	120.00000	6,000.00	407.82000	20,391.00		
CORE SA	MPLES, HOT MIX	U						



Page 89 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt Set:			It Member:	
0057 453006M	200.000	160.00000	32,000.00	201.96000	40,392.00		
FULL DEPTH CONCRETE PAVEMENT REPAIR, HMA	SY						
0058 601122P	3,711.000	60.00000	222,660.00	108.17000	401,418.87		
15" REINFORCED CONCRE PIPE	TE LF						
0059 601124P	1,969.000	85.00000	167,365.00	120.49000	237,244.81		
18" REINFORCED CONCRE PIPE	TE LF						
0060 601128P	54.000	115.00000	6,210.00	169.49000	9,152.46		
24" REINFORCED CONCRE PIPE	TE LF						



Page 90 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(7) GEORG CONSTRUCTION	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0061	601372M	1.000	2,900.00000	2,900.00	3,533.46000	3,533.46		
18" REIN SECTION	IFORCED CONCRET N	E END U						
0062	601376M	1.000	3,900.00000	3,900.00	4,043.19000	4,043.19		
24" REIN SECTION	IFORCED CONCRET N	E END U						
0064	602012M	16.000	4,500.00000	72,000.00	6,470.21000	103,523.36		
INLET, T	YPE B	U						
0065	602018M	18.000	5,200.00000	93,600.00	6,522.59000	117,406.62		
INLET, T	YPE E	U						
0066	602054M	4.000	5,500.00000	22,000.00	7,174.28000	28,697.12		
MANHOL	LE, 4' DIAMETER	U						



Page 91 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	Roadway		Cat Alt Set: Cat Alt Memb			It Member:	
0067	602057M	1.000	10,500.00000	10,500.00	8,360.16000	8,360.16		
MANHO	LE, 5' DIAMETER	U						
0068	602129M	2.000	3,100.00000	6,200.00	3,506.64000	7,013.28		
	STRUCTED INLET, T EXISTING CASTING	YPE E, U						
0070	602223M	1.000	16,500.00000	16,500.00	12,250.43000	12,250.43		
OUTLET	CONTROL STRUCT	URE U						
0071	603036P	121.000	115.00000	13,915.00	121.33000	14,680.93		
	STONE CHANNEL CTION, 12" THICK (D	50=6")						
0072	603057P	1,418.000	64.00000	90,752.00	74.73000	105,967.14		
ROCK B	ACKFILL	Т						



Page 92 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0073	605045P	684.000	37.00000	25,308.00	41.66000	28,495.44		
CHAIN-L	NK FENCE, 6' HIGH	LF						
0074	605165M	1.000	2,900.00000	2,900.00	3,192.69000	3,192.69		
GATE, C WIDE	HAIN-LINK FENCE, 20'	U						
0075	606012P	13.000	93.00000	1,209.00	151.48000	1,969.24		
CONCRE	TE SIDEWALK, 4" THIC	K SY						
0076	606039P	1,624.000	75.00000	121,800.00	79.76000	129,530.24		
HOT MIX THICK	ASPHALT DRIVEWAY,	6" SY						
0077	606095P	48.000	600.00000	28,800.00	293.34000	14,080.32		
TURF PA	VERS	SY						



Page 93 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set /	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Roadway		Cat Alt Set: Cat Alt Member			It Member:	
0078	607018P	4,134.000	35.00000	144,690.00	34.96000	144,524.64		
9" X 16" CC CURB	ONCRETE VERTICAL	LF						
0079	607034P	469.000	35.50000	16,649.50	34.96000	16,396.24		
9" X 14" CC CURB	NCRETE VERTICAL	LF						
0080	607076P	87.000	43.00000	3,741.00	44.28000	3,852.36		
BELGIAN E	BLOCK CURB	LF						
0081	608003P	2,174.000	52.00000	113,048.00	44.28000	96,264.72		
NONVEGE MIX ASPHA	TATIVE SURFACE, HO ALT	OT SY						
0082	609003M	1,891.000	23.50000	44,438.50	32.63000	61,703.33		
BEAM GUI	DE RAIL	LF						



Page 94 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt Set: Cat A			It Member:	
0083	609006M	257.000	29.00000	7,453.00	40.78000	10,480.46		
BEAM G	UIDE RAIL, DUAL-FAC	CED LF						
0084	609024M	2.000	2,250.00000	4,500.00	2,913.04000	5,826.08		
FLARED	GUIDE RAIL TERMIN	AL U						
0085	609027M	2.000	3,100.00000	6,200.00	3,495.64000	6,991.28		
TANGEN	IT GUIDE RAIL TERMI	NAL U						
0086	609030M	2.000	4,600.00000	9,200.00	6,117.37000	12,234.74		
TELESCO TERMINA	OPING GUIDE RAIL E AL	ND U						
0087	609039M	5.000	1,050.00000	5,250.00	1,747.82000	8,739.10		
BEAM G	UIDE RAIL ANCHORA	GE U						



Page 95 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0088	609059M	4.000	3,400.00000	13,600.00	4,078.25000	16,313.00		
APPROAG TRANSITI	CH GUIDE RAIL ON TL-3	U						
0089	609063M	740.000	12.50000	9,250.00	13.98000	10,345.20		
RESET BI	EAM GUIDE RAIL W POSTS	/ITH LF						
0090	609075M	1,780.000	1.10000	1,958.00	3.50000	6,230.00		
REMOVA	L OF BEAM GUIDE	RAIL LF						
0091	610003M	52,305.000	0.35000	18,306.75	0.47000	24,583.35		
TRAFFIC	STRIPES, 4"	LF						
0092	610007M	655.000	0.70000	458.50	0.93000	609.15		
TRAFFIC	STRIPES, 8"	LF						



Page 96 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0093	610012M	80.000	47.00000	3,760.00	31.40000	2,512.00		
RPM, MC LENS	DNO-DIRECTIONAL, V	VHITE U						
0094	610018M	65.000	47.00000	3,055.00	31.40000	2,041.00		
RPM, MC AMBER I	DNO-DIRECTIONAL, LENS	U						
0095	610024M	145.000	20.00000	2,900.00	56.62000	8,209.90		
REMOVA	AL OF RPM	U						
0096	610036M	29,300.000	0.65000	19,045.00	0.76000	22,268.00		
REMOVA	AL OF TRAFFIC STRIF	PES LF						
0097	612003P	35.000	83.00000	2,905.00	39.62000	1,386.70		
REGULA SIGN	TORY AND WARNING	G SF						



Page 97 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0098	651057P	710.000	150.00000	106,500.00	213.79000	151,790.90		
8" DUCT CLASS 5	ILE IRON WATER PII 52	PE, LF						
0099	651063P	50.000	1,200.00000	60,000.00	372.80000	18,640.00		
12" DUC CLASS 5	TILE IRON WATER P 52	PIPE, LF						
0100	651243M	9.000	2,100.00000	18,900.00	3,841.19000	34,570.71		
WATER	SERVICE CONNECT	ION U						
0101	651246M	3.000	6,800.00000	20,400.00	19,628.61000	58,885.83		
FIRE HY	DRANT	U						
0102	654007P	(1)	525,000.00000	525,000.00	597,177.82000	597,177.82		
ELECTR RELOCA	ICAL UTILITY .TION, JC	LS PL						



Page 98 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description Alt Set / Alt Member Quantity and Units		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0103	655021P	1.000	48,000.00000	48,000.00	54,110.19000	54,110.19		
FIBER OPT	TIC UTILITY ION, FTS	LS						
0104	701011P	245.000	72.00000	17,640.00	81.56000	19,982.20		
1 1/2" RIGI PVC COAT	D METALLIC COND FED	UIT, LF						
0105	701015P	181.000	52.00000	9,412.00	87.39000	15,817.59		
2" RIGID M	METALLIC CONDUIT	LF						
0106	701020P	49.000	115.00000	5,635.00	128.17000	6,280.33		
3" RIGID M COATED	METALLIC CONDUIT	, PVC LF						
0107	701021P	83.000	90.00000	7,470.00	104.87000	8,704.21		
3" RIGID M	METALLIC CONDUIT	LF						



Page 99 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description	Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and l	nits Ur	nit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway				Cat Alt	Set:	Cat Alt Member:		
0108 701044P	39.0	00	52.00000	2,028.00	58.26000	2,272.14		
3/4" FLEXIBLE METALI	LIC CONDUIT	_F						
0109 701102M	2.0	00 2	2,400.00000	4,800.00	3,087.82000	6,175.64		
18" X 36" JUNCTION B	ox	U						
0110 701108M	7.0	00 2	2,700.00000	18,900.00	2,971.29000	20,799.03		
12" X 10" X 8" METAL 3 BOX	JUNCTION	U						
0111 701159M	1.0	00 5	5,100.00000	5,100.00	3,670.42000	3,670.42		
FOUNDATION, TYPE 1	M-MC	U						
0112 701177M	1.0	00 10	,500.00000	10,500.00	11,593.88000	11,593.88		
METER CABINET, TYP	PE 1M-MC	U						



Page 100 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0113	701192P	701.000	2.70000	1,892.70	2.91000	2,039.91		
GROUND	WIRE, NO. 8 AWG	LF						
0114	701195P	609.000	6.50000	3,958.50	6.99000	4,256.91		
MULTIPLI AWG	E LIGHTING WIRE, NO	D. 2 LF						
0115	701198P	1,608.000	4.75000	7,638.00	5.24000	8,425.92		
MULTIPLI AWG	E LIGHTING WIRE, NO	D. 6 LF						
0116	701204P	91.000	5.30000	482.30	5.83000	530.53		
MULTIPLI AWG	E LIGHTING WIRE, NO	D. 10 LF						
0117	701210P	456.000	6.50000	2,964.00	6.99000	3,187.44		
SERVICE	WIRE, NO. 2 AWG	LF						



Page 101 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt	Set:	Cat A	It Member:		
0118	703027M	7.000	2,500.00000	17,500.00	2,796.51000	19,575.57		
UNDERD	ECK LIGHTING TYP	PEP U						
0119	704002M	2,369.000	38.00000	90,022.00	69.33000	164,242.77		
ITS CON	DUIT, TYPE A	LF						
0120	704003M	2.000	5,600.00000	11,200.00	5,476.51000	10,953.02		
JUNCTIC	N BOX ITS TYPE A	U						
0121	704009M	6.000	4,700.00000	28,200.00	4,544.33000	27,265.98		
JUNCTIC	N BOX ITS TYPE C	U						
0122	704011M	1.000	3,400.00000	3,400.00	3,786.94000	3,786.94		
METER C	CABINET ITS	U						
0123	704014M	1.000	5,600.00000	5,600.00	2,563.47000	2,563.47		
FOUNDA	TION, ITS	U						



Page 102 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0124 704024M	1.000	4,100.00000	4,100.00	3,466.51000	3,466.51		
FOUNDATION ITS TYPE D	U						
0125 704033P	(1)	3,900.00000	3,900.00	4,369.55000	4,369.55		
CONTROL CENTER SYSTEM LOCATION NO STMC	M, LS						
0126 704033P	(1)	3,900.00000	3,900.00	4,369.55000	4,369.55		
CONTROL CENTER SYSTEM LOCATION NO TOCS	M, LS						
0127 704060M	1.000	15,200.00000	15,200.00	16,895.60000	16,895.60		
CAMERA	U						
0128 999999P	1.000	0.00000	0.00	0.00000	0.00		
NO ITEM	U						



Page 103 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway	Cat Alt		Set:	Cat A	Cat Alt Member:	
0129	704171M	1.000	120,000.00000	120,000.00	133,999.57000	133,999.57		
DMS SIG	SN .	U						
0130	704183M	1.000	17,200.00000	17,200.00	18,643.42000	18,643.42		
CONTRO	DLLER, DMS	U						
0132	804006P	13,435.000	3.00000	40,305.00	2.85000	38,289.75		
TOPSOII	LING, 4" THICK	SY						
0134	804030P	519.000	87.00000	45,153.00	116.52000	60,473.88		
BIORETI	ENTION SOIL MIXTURI	E CY						
0136	806006P	10,991.000	1.25000	13,738.75	0.87000	9,562.17		
FERTILIZ A-3	ZING AND SEEDING, T	YPE SY						



Page 104 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Cat Alt Set:			Cat Alt Member:			
0140	807003M	5,488.000	5.00000	27,440.00	4.37000	23,982.56		
TOPSOIL MAT	_ STABILIZATION, TY	PE 1 SY						
0176	704185M	1.000	13,500.00000	13,500.00	14,739.95000	14,739.95		
CONTRO DMS	DLLER MODIFICATION	NS, U						
0177	504046P	955.000	23.00000	21,965.00	20.97000	20,026.35		
PAINTING SURFAC	G OF CONCRETE E	SY						

Section Totals: \$7,923,923.12 \$10,958,742.01



Page 105 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Construction E		ngineering Cat Alt Set:			Cat Alt Member:		
0008 155009M	1.000	95,000.00000	95,000.00	16,601.45000	16,601.45		
FIELD OFFICE TYPE C SET I	UP U						
0009 155027M	25.000	2,500.00000	62,500.00	3,635.61000	90,890.25		
FIELD OFFICE TYPE C MAINTENANCE	MO						
0010 156015M	1.000	6,500.00000	6,500.00	9,350.84000	9,350.84		
NUCLEAR DENSITY GAUGE	U						
Section Totals:			\$164,000.00		\$116,842.54		



Page 106 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	lo / Item ID escription		(7) GEORG CONSTRUCTIO INC	N COMPANY,	(8) IEW CONS GROUP			
Alt Se	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Non-Participat		ng Roadway	Cat Alt	Set:	Cat A	It Member:		
0002	152004P	1.000	18,500.00000	18,500.00	21,195.24000	21,195.24		
-	'S AND CONTRACTOR CTIVE LIABILITY NCE	'S DOLL						
0003	152015P	1.000	19,000.00000	19,000.00	21,195.24000	21,195.24		
POLLUT	ION LIABILITY INSURA	NCE DOLL						
0034	159190M	(1)	0.01000	0.01	24,440.09000	24,440.09		
SNOW R	REMOVAL	LS						
0063	601670M	545.000	11.00000	5,995.00	8.74000	4,763.30		
CLEANIN 24" DIAM	NG EXISTING PIPE, 12 METER	"TO LF						
0069	602216M	10.000	310.00000	3,100.00	378.69000	3,786.90		
CLEANIN STRUCT	NG DRAINAGE TURE	U						



Page 107 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

Line No / Item ID Item Description		CONSTRUCTION	GE HARMS ON COMPANY, IC.	\ <i>'</i>	ISTRUCTION IP, INC.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$46,595.01 \$75,380.77



Page 108 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set / A	Alt Member (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0012 1	58006M	6,058.000	5.50000	33,319.00	8.65000	52,401.70		
SILT FENCE	≣	LF						
0013 1	58012M	1,001.000	7.00000	7,007.00	8.72000	8,728.72		
HEAVY DUT	TY SILT FENCE, BL	ACK LF						
0014 1	58015M	20.000	40.00000	800.00	54.49000	1,089.80		
HAYBALE		U						
0015 1	58030M	35.000	140.00000	4,900.00	440.73000	15,425.55		
INLET FILTE	ER TYPE 2, 2' X 4'	U						
0016 1	58033M	30.000	170.00000	5,100.00	526.19000	15,785.70		
INLET FILTE	ER TYPE 2, 4' X 4'	U						
0017 1	58055M	4.000	2,000.00000	8,000.00	1,380.46000	5,521.84		
SEDIMENT	CONTROL BAG	U						



Page 109 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0018	158060M	250.000	65.00000	16,250.00	83.94000	20,985.00		
CONSTR	RUCTION DRIVEWAY	Т						
0019	158063P	(1)	20,000.00000	20,000.00	23,190.08000	23,190.08		
CONCRE	TE WASHOUT SYSTEM	LS						
0020	158072M	2.000	1,900.00000	3,800.00	1,246.78000	2,493.56		
OIL ONL' TYPE 1	Y EMERGENCY SPILL K	T, U						
0021	158084M	1,394.000	5.00000	6,970.00	51.72000	72,097.68		
EROSIO!	N CONTROL SEDIMENT AL	CY						
0137	806018P	2,081.000	1.25000	2,601.25	1.17000	2,434.77		
FERTILIZ F	ZING AND SEEDING, TYF	PE SY						



Page 110 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

Line No / Item ID Item Description		CONSTRUCTION	GE HARMS ON COMPANY, IC.	` '	ISTRUCTION IP, INC.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$108,747.25 \$220,154.40



Page 111 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0005	General Lands	cape	Cat Alt	Set:	Cat A	It Member:	
0131	802003M	12.000	1,000.00000	12,000.00	553.48000	6,641.76		
	NG EXISTING TREE, O\ " DIAMETER	/ER U						
0133	804015P	574.000	30.00000	17,220.00	48.94000	28,091.56		
BORRO\	W TOPSOIL	CY						
0135	805003M	3,000.000	7.50000	22,500.00	4.14000	12,420.00		
TURF RE	EPAIR STRIP	LF						
0138	806024P	777.000	1.30000	1,010.10	4.37000	3,395.49		
FERTILIZ W	ZING AND SEEDING, T	YPE SY						
0139	806033P	2,446.000	1.25000	3,057.50	0.87000	2,128.02		
FERTILIZ MAINTEI	ZING AND SEEDING, LO NANCE	OW SY						



Page 112 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 General Lands			cape	Cat Alt	Set:	Cat A	It Member:	
0141 FIBER M	809006M ULCHING	16,295.000 SY	2.50000	40,737.50	0.70000	11,406.50		
0142 LARGE I CALIPER	811006M DECIDUOUS TREE, 2 R, B&B	25.000 -2 1/2" U	790.00000	19,750.00	611.74000	15,293.50		
	811018M DECIDUOUS TREE, IG 15-18" HIGH, POT NER	3.000 U OR	47.00000	141.00	58.26000	174.78		
	811019M DECIDUOUS TREE, 8 ULTI-STEM, B&B	10.000 -10' U	790.00000	7,900.00	436.96000	4,369.60		



Page 113 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description Alt Set / Alt Member Quantity and Units			(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantity	y and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 General Lands		neral Lands	cape	Cat Alt	Set:	Cat A	It Member:		
0145	811024M		15.000	770.00000	11,550.00	565.13000	8,476.95		
SMALL D	DECIDUOUS TREE, R, B&B	2-2 1/2"	U						
0146	811029M		16.000	730.00000	11,680.00	413.65000	6,618.40		
SMALL D	DECIDUOUS TREE, B	6-7'	U						
0147	811039M		11.000	680.00000	7,480.00	273.83000	3,012.13		
EVERGE	REEN TREE, 6-7' HI	GH, B&B	U						
0148	811056M		16.000	133.00000	2,128.00	110.70000	1,771.20		
DECIDU B&B	OUS SHRUB, 4-5' H	lIGH,	U						
0149	811057M		14.000	130.00000	1,820.00	83.90000	1,174.60		
DECIDU B&B	OUS SHRUB, 3-4' F	HIGH,	U						



Page 114 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 General Lar		General Landso	cape	Cat Alt	Set:	Cat A	It Member:	
0150	811060M	15.000	115.00000	1,725.00	60.59000	908.85		
DECIDUO B&B	OUS SHRUB, 24-30" H	IIGH, U						
0151	811111M	17.000	25.00000	425.00	20.97000	356.49		
PERENN	IAL, #1 CONTAINER	U						
0152	811120M	2,070.000	5.00000	10,350.00	5.53000	11,447.10		
PERENN	IAL, 2" PLUG	U						
0153	811138M	(1)	16,500.00000	16,500.00	9,904.32000	9,904.32		
PLANT E	STABLISHMENT PER	IOD LS						

Section Totals: \$187,974.10 \$127,591.25



Page 115 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0006	Route 34 Culve 150)	ert (Structure NO.	. 1307- Cat Ali	Set:	Cat A	It Member:	
0154	162005P	(1)	40,000.00000	40,000.00	42,287.93000	42,287.93		
VIBRATIO	ON MONITORING	LS						
0155	201006P	(1)	500,000.00000	500,000.00	500,000.00000	500,000.00		
CLEARIN Bridge (1	IG SITE, BRIDGE (_ 307-150)) LS						
0156	201039P	(1)	0.01000	0.01	76,239.16000	76,239.16		
TEMPOR	RARY SHIELDING	LS						
0157	203009P	175.000	110.00000	19,250.00	170.64000	29,862.00		
I-9 SOIL	AGGREGATE	CY						
0158	504003P	361,800.000	1.90000	687,420.00	1.95000	705,510.00		
REINFO	RCEMENT STEEL	LB						



Section Totals:

Tabulation of Bids

Page 116 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG RAILROAD

Line No / Item ID Item Description			(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	Route 34 Culve 150)	ert (Structure NO.	. 1307- Cat Alt	Set:	Cat A	It Member:	
0159 504012P	1,500.000	810.00000	1,215,000.00	1,133.22000	1,699,830.00		
CONCRETE CULVERT, STRUCTURES	CY						
0160 504036P	395.000	30.00000	11,850.00	58.26000	23,012.70		
EPOXY WATERPROOFING	SY						
0161 514012P	2,200.000	28.00000	61,600.00	1.00000	2,200.00		
TEMPORARY WALL	SF						

\$2,535,120.01

\$3,078,941.79



Page 117 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description. Roote 34, BRIDGE OVER FORWER FREE FREE AND GAME GEORGE WILLIAM										
Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.						
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount			
SECTION: 0007	Retaining Wall	Location NO.1 Cat Alt S		Set: Cat A		It Member:				
0162 513003P	2,700.000	385.00000	1,039,500.00	391.31000	1,056,537.00					
RETAINING WALL, LOCATIO	ON NO. SF									
Section Totals:			\$1,039,500.00		\$1,056,537.00					



Page 118 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Red E of, Bridge over the office of the office of the control of the office of the off									
Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.						
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount			
SECTION: 0008	Retaining Wall	Location NO.2	Cat Alt	t Set:	Cat A	It Member:				
0163 513003P	3,125.000	360.00000	1,125,000.00	330.13000	1,031,656.25					
RETAINING WALL, LOCATIO	ON NO. SF									
Section Totals:			\$1,125,000.00		\$1,031,656.25					



Page 119 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Descrip	Contract Description. ROUTE 34, BRIDGE OVER FORWER PREEHOLD AND JAIWESBURG RAILROAD								
Line No / Item ID Item Description	Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0009	Butterfly Sign S NO. 1307-207)	Support NO. 1 (St	tructure Cat Al	t Set:	Cat A	It Member:			
0164 201009P	(1)	15,000.00000	15,000.00	25,000.00000	25,000.00				
CLEARING SITE, STRI () Structure (1307-2									
0165 202009P	8.000	100.00000	800.00	291.30000	2,330.40				
EXCAVATION, UNCLA	SSIFIED CY								
0166 501003P	77.000	69.00000	5,313.00	46.61000	3,588.97				
TEMPORARY SHEETI	NG SF								
0167 503003P	(1)	82,500.00000	82,500.00	11,652.14000	11,652.14				
FURNISHING DRILLED EQUIPMENT	O SHAFT LS								
0168 503012M	1.000	2,900.00000	2,900.00	2,913.03000	2,913.03				
CROSSHOLE SONIC L	LOGGING U								



Page 120 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPANY, INC.		(8) IEW CONSTRUCTION GROUP, INC.			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
		Butterfly Sign S NO. 1307-207)	Support NO. 1 (St	ructure Cat Al	t Set:	Cat A	It Member:	
0169	503015M	15.000	200.00000	3,000.00	1.17000	17.55		
SHAFT (CORING	LF						
0170	503021M	15.000	1,050.00000	15,750.00	1,106.95000	16,604.25		
DRILLED DIAMETI	O SHAFT IN SOIL 48" ER	LF						
0171	503048M	5.000	300.00000	1,500.00	466.09000	2,330.45		
OBSTRU	JCTION REMOVAL	LF						
0172	503051M	1.000	600.00000	600.00	582.61000	582.61		
TOMOGI	RAPHY	U						
0173	504006P	1,050.000	3.00000	3,150.00	5.83000	6,121.50		
REINFOI COATED	RCEMENT STEEL, EP	OXY- LB						



Page 121 of 121

Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 District(s): C1

Call Order: 130 **Project(s):** NHP-0034 (303)

Contract Time: 10/16/20 COMPLETION DATE Min: Max:

Contract Description: Reot to 54, BRIDGE OVER TORRIBER TREE TOED AND SAME OBORG TRAILROAD								
Line No / Item ID Item Description		(7) GEORGE HARMS CONSTRUCTION COMPAN INC.		(8) IEW CONSTRUCTION GROUP, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0009 Butterfly Sign Support NO. 1 (Structure Cat Alt Set: Cat Alt Member: NO. 1307-207)								
0174 504026P	4.000	5,500.00000	22,000.00	2,913.04000	11,652.16			
CONCRETE PIER COLUMN CAP, HPC	AND CY							
0175 512009M	1.000	85,000.00000	85,000.00	78,884.96000	78,884.96			
BUTTERFLY SIGN SUPPOR STRUCTURE Butterfly Struct	•							
Section Totals:			\$237,513.00		\$161,678.02			
Contract Totals		\$13,368,372.49			\$16,827,524.03			
Cost Plus Time Totals		\$13,368,372.49		\$16,827,524.03				
() indicates item is bid as Lump Sum								

Page:



Vendor Ranking

Call Order: 130 Contract ID: 19130 Counties: MONMOUTH

Letting Date: June 20, 2019 10:00 AM District(s): C1

Contract Time: 10/16/20 COMPLETION DATE

Contract Description: ROUTE 34, BRIDGE OVER FORMER FREEHOLD AND JAMESBURG Project(s): NHP-0034 (303)

RAILROAD

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	G7305	GREEN CONSTRUCTION, INC.	\$9,650,656.98	100.00%
2	M4139	MIDLANTIC CONSTRUCTION, LLC	\$9,871,974.20	102.29%
3	E0622	EARLE ASPHALT COMPANY	\$10,313,313.13	106.87%
4	N2943	NEW PRINCE CONCRETE CONSTRUCTION CO., INC.	\$12,539,555.89	129.93%
5	R4689	RITACCO CONSTRUCTION, INC.	\$12,884,000.00	133.50%
6	A5969	ANSELMI & DECICCO, INC.	\$13,184,000.00	136.61%
7	H0632	GEORGE HARMS CONSTRUCTION COMPANY, INC.	\$13,368,372.49	138.52%
8	12943	IEW CONSTRUCTION GROUP, INC.	\$16,827,524.03	174.37%
	H2818	C.J. HESSE, INC.	Irregular	

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,